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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, DECEMBER 2022. 

First Semester 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by line and staff organisation? 

 Á›ø\ ©ØÖ® £o¯õÍºPÒ Aø©¨¦ •øÓ £ØÔ AÔÁx 
GßÚ? 

2. Give the meaning of Staffing. 

 £o¯©ºzxu¼ß ö£õ¸Ò u¸P. 

3. What is decision making? 

 •iÄ GkzuÀ GßÓõÀ GßÚ? 

4. What do you mean by the organisational behavior? 

 {ÖÁÚ Aø©¨¦ |hzøuø¯ £ØÔ AÔÁx GßÚ? 

5. Write a short note on Globalisation in organisational 
behaviour. 

 {ÖÁÚ Aø©¨¦ |hzøu°À E»P©¯©õUPø» £ØÔ ]Ö 
SÔ¨¦ ÁøμP. 
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6. Define Personality. 

 BÐø©ø¯ Áøμ¯ÖUP. 

7. What is work group behavior? 

 £oUSÊÂÀ |hzøu GßÓõÀ GßÚ? 

8. What is meant by Emotions? 

Enºa]Á\¨£kuÀ £ØÔ AÔÁx GßÚ? 

9. What do you mean by Stress? 

©Ú AÊzu® £ØÔ AÔÁx GßÚ? 

10. Explain the term leadership. 

 uø»ø©÷¯Ø¦ GÝ® £uzøu ÂÍUSP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) Explain the different types of planning. 

  vmhªku¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the organizational division and span 
control? 

  {ÖÁÚ Aø©¨¤À ¤›Ä ©ØÖ® Põ» Pmk¨£õkPÒ 
Gß£Ú ¯õøÁ? 

12. (a) What are the importance of Management? 

  ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Discuss the pre requisites of effective control. 

  £¯ÝÒÍ Pmk£õkPÐUS ÷uøÁ¯õÚÁØøÓ 
ÂÁõvUP. 
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13. (a) What is leading? Explain its importances. 

  •ßÚo GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) Explain the personality attributes. 

  BÐø© £s¦PÎß TÖPøÍ ÂÍUSP. 

14. (a) Discuss the various theories in motivation. 

  ö\¯¿UP©Îzu¼ß £À÷ÁÖ ÷Põm£õkPøÍ 
ÂÁ›UP. 

Or 

 (b) Write about the concepts of groups. 

  SÊ P¸zøu £ØÔ GÊxP. 

15. (a) Explain the various theories of leadership. 

  uø»ø©÷¯Ø¤ß £À÷ÁÖ ÷Põm£õkPøÍ ÂÍUSP. 

Or 

 (b) What are the fundamentals of change? 

  ©õØÓzvß Ai¨£øhPÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Give the definition of Management. Explain its various 
processes. 

 ÷©»õsø©°ß ÁøμÂ»UPn® u¸P. ÷©»õsø©°ß 
£À÷ÁÖ £iPøÍ ÂÍUSP. 

17. Explain the Principle of organization. 

 Aø©¨¦ •øÓ°ß uzxÁ[PøÍ ÂÍUSP. 
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18. Discuss the orgaisation behaviour approaches in detail. 

 Aø©¨¦ •øÓ |hzøu°ß AqS •øÓø¯ Â›ÁõP 
ÂÍUSP. 

19. Explain the stages of group formation and group process 
in organisation behaviour. 

{ÖÁÚ Aø©¨¦ |hzøu°À SÊ E¸ÁõUP® ©ØÖ® SÊ 
£i{ø»PøÍ ÂÍUSP. 

20. Explain the role of leadership in contemporary business. 

 ÁoPzvÀ uø»ø©÷¯Ø¤ß £[SPøÍ ÂÍUSP. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (CA) DEGREE 
EXAMINATION, DECEMBER 2022. 

First Semester 

BUSINESS COMMUNICATION  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Communication?  

 uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

2. Mention about Grapevine Communication.  

 •¢v› öPõi uPÁÀ öuõhºø£¨ £ØÔ SÔ¨¤kP. 

3. What is principle of correctness?  

 \›zußø© uzxÁ® GßÓõÀ GßÚ? 

4. What is video conferencing?  

 PõönõÎ Põm] GßÓõÀ GßÚ? 

5. State about the circular letter. 

 _ØÓÔUøP Piuzøu¨ £ØÔ TÖP. 

6. What is a Memo?  

 SÔ¨£õøn GßÓõÀ GßÚ? 
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7. Define the term report.  

 AÔUøP GßÓ £uzøu Áøμ¯ÖUPÄ®. 

8. State about the report writing.  

AÔUøP £vÄ £ØÔ TÖS. 

9. Write a short note on Agenda. 

{PÌa] {μÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. What is an Interview?  

 ÷|ºPõnÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the forms of written communication. 

  GÊzx ÁiÂ»õÚ uPÁÀ öuõhº¤ß ÁiÁ[PøÍ 
TÖP. 

Or 

 (b) What are the merits and demerits of upward 
communication? 

  ÷©À÷|õUQ¯ uPÁÀ öuõhº¤ß |ßø©PÒ ©ØÖ® 
wø©PÒ ¯õøÁ? 

12. (a) List out the principles of good communication. 

  ]Ó¢u uPÁÀ öuõhº¤ß ÷Põm£õkPøÍ £mi¯¼kP. 

Or 

 (b) What are the features of an offer letter? 

  •øÚÄ ©h¼ß C¯À¦PÒ ¯õøÁ? 
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13. (a) What is a collection letter? Give an example.  

   Á`À Piu® GßÓõÀ GßÚ? Euõμn® u¸P. 

Or 

 (b) State the contents of an order letter.  

  EzuμÄ Piuzvß EÒÍhUP[PøÍU TÖP. 

14. (a) What are the ways in which a report can be 
organised?  

  JÊ[Pø©UP¨£mh AÔUøP öÁÎ°kÁuØS 
EshõÚ ÁÈPÒ ¯õøÁ? 

Or 

 (b) What are the characteristics of a good report?  

  J¸ |À» AÔUøP°ß ußø©PÒ ¯õøÁ? 

15. (a) State the kinds of testimonials. 

  \õßÖPÎß ÁøPPøÍU TÖP. 

Or 

 (b) What are the purposes of interview? 

  ÷|ºPõn¼ß ÷|õUP[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the barriers of effective communication. 

 J¸ |À» uPÁÀ öuõhº¤ß uøhPøÍ ÂÍUSP. 

17. Explain the different types of business letters.  

 ÁoPU Piu[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUPÄ®. 
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18. Draft an enquiry letter to HMT watch company asking 
price list. 

 Ga.G®.mi. PiPõμ {ÖÁÚzvØS ÂÁμ¨ £mi¯À ÷Pmk 
Â\õμønU Piu® JßøÓ ÁøμP. 

19. Explain the different types of report. 

 AÔUøP°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. What are the information to be furnished in a letter of 
application for employment?  

J¸ ÷Áø»UPõn Âsn¨£U PiuzvÀ AÎUP ÷Ási¯ 
Â£μ[PÒ ¯õøÁ? 

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2022. 

First Semester 

BUSINESS ENVIRONMENT  

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define social system. 

 \‰P Aø©¨ø£ Áøμ¯Ö. 

2. What is legal environment? 

 \mh `ÇÀ GßÓõÀ GßÚ? 

3. What is fiscal deficit? 

 {v £ØÓõUSøÓ GßÓõÀ GßÚ? 

4. Define social stratification. 

 \‰P AkUøP Áøμ¯Ö. 

5. What is cultural transimission? 

 P»õa\õμ £›©õØÓ® GßÓõÀ GßÚ? 

6. What is social attitude? 

 \‰P AqS•øÓ GßÓõÀ GßÚ? 
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7. What is plan investment? 

 vmh •u½k GßÓõÀ GßÚ? 

8. What is capitalism? 

•u»õÎzxÁ® GßÓõÀ GßÚ? 

9. What is environment scaning? 

`ÇÀ ~s B´Ä GßÓõÀ GßÚ? 

10. What is Business cycle? 

 ÁoP _ÇØ] GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the impact of socio-cultural environment on 
business. 

  ÁoPzvÀ \‰P–P»õa\õμ `Ç¼ß uõUPzøu ÂÁ›. 

Or 

 (b) What is co-operative movement? What are its 
advantages? 

  TmkÓÄ C¯UP® GßÓõÀ GßÚ? Auß |ßø©PÒ 
¯õøÁ? 

12. (a) Explain the role of FDI in India. 

  C¢v¯õÂÀ AßÛ¯ ÷|μi •u½miß £[øP 
ÂÍUSP. 

Or 

 (b) Explain the elements of financial system. 

  {v Aø©¨¤ß Ai¨£øh TÖPøÍ ÂÁ›. 
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13. (a) State the effects of economic integration. 

  ö£õ¸Íõuõμ J¸[Qøn¨¤ß ÂøÍÄPøÍU TÖP. 

Or 

 (b) What are the regulatory policies of the Government 
towards business? 

  ÁoPzøu ÷|õUQ¯ Aμ\õ[Pzvß JÊ[S•øÓU 
öPõÒøPPÒ ¯õøÁ? 

14. (a) Explain the characteristics of Mixed economy. 

  P»¨¦ ö£õ¸Íõuõμzvß £s¦PøÍ ÂÍUSP. 

Or 

 (b) What are the function of IDBI? 

  IDBI –ß ö\¯À£õkPÒ ¯õøÁ? 

15. (a) State the need and importance of financial 
institutions. 

  {v {ÖÁÚ[PÎß ÷uøÁ ©ØÖ® •UQ¯zxÁzøu 
TÖP. 

Or 

 (b) State the social responsibilities of business. 

  ÁoPzvß \‰P¨ ö£õÖ¨¦PøÍU TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various competitive faces affecting the 
business and its environment. 

 ÁoPzøu²® Auß _ØÖ`Çø»²® £õvUS® £À÷ÁÖ 
÷£õmi \UvPøÍ ÂÍUSP. 

17. How does linguistic and religious group affect business? 

 ö©õÈ ©ØÖ® \‰P SÊUPÒ GÆÂu® ÁoPzøu 
£õvUQÓx? 
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18. Briefly explain the relationship of government and 
business. 

 Aμ_ ©ØÖ® ÁoPzvØS® EÒÍ öuõhºø£ _¸UP©õP 
ÂÍUSP. 

19. Analyse the social responsibility of business towards the 
community. 

\‰Pzvß «uõÚ ÁoPzvß \‰P¨ ö£õÖ¨ø£ £S¨£õ´Ä 
ö\´P. 

20. Explain the new industrial policy 1991. 

 ¦v¯ öuõÈÀxøÓ öPõÒøP 1991 ÂÍUSP. 

———————— 

  



  

D–7269     

DISTANCE EDUCATION 

Common for  B.Com./B.Com (CA) DEGREE EXAMINATION, 
DECEMBER 2022.  

First Semester 

FINANCIAL ACCOUNTING 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Book-keeping? 

PnUS £vÄ •øÓ GßÓõÀ GßÚ?   

2. Write a brief note on Realisation concept. 

 wºÄ P¸zx £ØÔ _¸UP©õP GÊxP. 

3. What is a journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

4. List out the object of preparing a Trial Balance.  

 C¸¨¦ ÷\õuøÚ £mi¯À u¯õ›¨£uß ÷|õUPzøu 
£mi¯¼kP. 

5. What are Fictious assets?  

 ö£¯μÍÄ ö\õzxUPÒ GßÓõÀ GßÚ? 

6. Define Depreciation. 

 ÷u´©õÚ® Áøμ¯Ö. 

Sub. Code 
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7. What is meant by Goodwill?  
 |Øö£¯º GßÓõÀ GßÚ? 

8. What is Gaining ratio?  
 Buõ¯ Ãu® GßÓõÀ GßÚ? 

9. Write a note on stock valuation. 
 \μUS ©v¨¤hÀ £ØÔ SÔ¨¦ ÁøμP. 

10. What is meant by ‘Under Subscription’? 
 SøÓ J¨£® £ØÔ }Âº AÔöÁöußÚ? 

 SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. Choosing either (a) or (b). 

11. (a) Write any five accounting concepts and write few 
lines about it.  

  H÷uÝ® I¢x PnUQ¯À ö£õxU P¸zxUPøÍU TÔ 
AÁØøÓ¨ £ØÔ ]» Á›PøÍ GÊxP. 

Or 

 (b) Journalise the following transactions:  

  (i) Cash purchases Rs. 10,000 

   (ii) Paid salary to manager Rs. 15,000 

   (iii) Received commission from Ramesh Rs. 5,000 

  (iv) Cash sales Rs. 25,000 

  (v) Paid into Bank Rs. 1,000 
  RÌPõq® |hÁiUøPPÐUS •uØSÔ¨÷£mk 

£vÄPøÍ u¸P : 

   (i) öμõUP öPõÒ•uÀ – ¹. 10,000 

   (ii) ÷©»õÍ¸US \®£Í® ÁÇ[Q¯x – ¹. 15,000 

   (iii) μ÷©æhª¸¢x ö£ØÓ PÈÄ – ¹. 5,000 

  (iv) öμõUP ÂØ£øÚ – ¹. 25,000 

  (v) Á[Q°À ö\¾zv¯x – ¹. 1,000 
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12. (a) What are subsidiary books? Explain the purpose of 
each one of them.  

  xøn HkPÒ ¯õøÁ? AøÁ JÆöÁõßÔß £¯øÚ 
£ØÔ GÊxP. 

Or 

 (b) Describe various types of errors.  
  ¤øÇPÎß £À÷ÁÖ ÁøPPøÍ TÖP. 

13. (a) From the following prepare Trading Account 
 Rs. 

Opening stock 1,00,000 

Purchases 1,50,000 

Purchase returns 25,000 

Direct Expenses 10,000 

Carriage Inwards 5,000 

Sales 4,00,000 

Closing stock 50,000 

Salary  10,000 

Income Tax 1,000 
  RÌPshÁØÔÀ C¸¢x Â¯õ£õμ PnUøP u¯õº 

ö\´¯Ä®. 

 ¹. 

öuõhUP \μUQ¸¨¦ 1,00,000 
öPõÒ•uÀ 1,50,000 
öPõÒ•uÀ v¸¨£® 25,000 
÷|μi ö\»ÄPÒ 10,000 
EÒ HØÔa ö\À ö\»Ä 5,000 
ÂØ£øÚ 4,00,000 
CÖva \μUQ¸¨¦ 50,000 
\®£Í® 10,000 
Á¸©õÚ Á› 1,000 

Or 
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 (b) George Co. Ltd purchased a machine on 1st January 
2015 for Rs. 50,000. On 1st July 2015 further 
machinery was purchased for Rs. 25,000. On  
1st July 2016, the machinery purchased on  
1st January 2015 having obsolete, was sold off for 
Rs. 20,000. Depreciation has to be charged at 20% 
on the original cost assuming that the a/cs are 
closed every year on 31st December, required to 
prepare machinery account.  

  áõºä P®ö£Û ¹.50,000 ©v¨¦ÒÍ C¯¢vμ® 
JßøÓ 1.1.2015 AßÖ öPõÒ•uÀ ö\´ux. ÷©¾® 
¹.25,000 C¯¢vμ® JßøÓ 01.07.2015 AßÖ 
Áõ[Q¯x. áúø» 1, 2016 AßÖ C¯¢vμ® JßÖ 
¹.20,000US ÂØ£øÚ ö\´¯¨£mhx. C¢u 
C¯¢vμ® Áõ[Q¯x 01.01.2015 BS®. AÁØÔß 
÷u´©õÚ ÂQu® 20% BP Auß AhUP Âø»°À 
PnUQh¨£mhx. JÆöÁõ¸ Bsk® ÷u´©õÚ 
PnUS 31 i\®£º ©õu® •iUP¨£kQÓx, GÛÀ 
Auß C¯¢vμ PnUøP u¯õº ö\´P. 

14. (a) Balu and Seenu are partners sharing profit and 
losses equally with capital of Rs.60,000 and 
Rs.40,000 respectively. Their drawings during the 
year are as follows 

          Rs. 

  Balu’s drawings on  31.03.2019 1,000 

      30.04.2019 1,200 

      01.07.2019  900 

      01.12.2019 2,800 

  Seenu drew Rs.400 at end of each month. The deed 
provides interest on capitals and drawings at 6%. 
Calculate interest on capitals and drawings. 

  £õ¾Ä®, ^Ý® Tmk ÁoP {ÖÁÚ® JßÔß 
£[PõuõμºPÍõP EÒÍÚº. CÁºPÍx •uÀ •øÓ÷¯ 
¹.60,000 ©ØÖ® ¹. 40,000 BP EÒÍx. AÁºPÒ 
{ÖÁÚzvß C»õ£ |mhzøu \›\©©õP¨ £[Qmk 
öPõÒQßÓÚº. |h¨¦ BsiÀ CÁºPÍx Gk¨¦ 
ÂÁμ® ¤ßÁ¸©õÖ. 



D–7269
  5

   £õ¾ AÁºPÎß Gk¨¦ •øÓ÷¯ : ¹. 

      31.03.2019 1,000 

      30.04.2019 1,200 

      01.07.2019  900 

      01.12.2019 2,800 

  ^Ý JÆöÁõ¸ ©õu CÖv°¾® ¹.400 GkUQÓõº. 
Tmk ÁoP® £zvμ® •uÀ ©ØÖ® Gk¨¦ «x 
•øÓ÷¯ 6% Ámi ÂvUP¨£kQÓx. 

•uÀ ©ØÖ® Gk¨¦ «uõÚ Ámiø¯ PnUQkP. 

Or 

 (b) A firm earned net profits during the last three years 
as follows : 

 Rs. 

I Year 36,000 

II Year 40,000 

III Year 44,000 

  The capital investment of the firm is Rs.1,20,000.  
A fair return on the capital having regard to the 
risk involved is 10% calculate the value of goodwill 
on the basis of 3 years purchase of super profits.   

  J¸ {ÖÁÚ® Ph¢u ‰ßÖ BskPÎÀ Dmi¯ {Pμ 
C»õ£® RÌÁ¸©õÖ : 

 ¹. 

•uÀ Bsk 36,000 

Cμshõ® Bsk 40,000 

‰ßÓõ® Bsk 44,000 

  A¢{ÖÁÚzvß ‰»uÚ •u½k ¹.1,20,000 BS®. 
A£õ¯zøu PnUQmh ¤ÓPõÚ •u½k «uõÚ 
{¯õ¯©õÚ «Ò Á¸øP 10% BP EÒÍx. 3 Á¸h 
ªøP C»õ£U öPõÒ•uÀ Ai¨£øh°À |Øö£¯›ß 
©v¨ø£U PnUQkP  
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15. (a) Ravi Ltd, issued 50,000 shares of Rs.10 each at a 
discount of 10%.  

 Rs. 

On application 3 

On allotment 4 

On 1st and final call 2 

  The company received 60,000 applications and the 
excess were rejected. All the money was received 
except 1st and Final Call on 2,000 shares. Give 
Journal entries in the books of the company.  

  μÂ Áøμ¯Ö {Ö©® 50,000 £[SPøÍ ¹.10 Ãu® 
10% ÁmhzvÀ öÁÎ°mhx. 

 ¹.

Âsn¨£zvß ö£õÊx 3 
JxURmiß ö£õÊx 4 
•uÀ ©ØÖ® CÖv AøÇ¨¤ß ÷£õx 2 

  {ÖÁÚ® 60,000 Âsn¨£[PøÍ ö£ØÓx, ©ØÖ® 
AvP©õP ö£ØÓ Âsn¨£[PÒ {μõP›UP¨£mhx. 
2,000 £[SPÐUPõÚ •uÀ ©ØÖ® CÖv AøÇ¨¦ 
£nzøu uÂμ ©ØÓ AøÚzx £n•® ö£Ó¨£mhx. 
{ÖÁÚ HkPÎÀ SÔ¨÷£mk £vÄPøÍ u¸P. 

 Or 

 (b) Describe the different methods of redemption of 
debentures. 

  PhÜmk¨ £zvμzøu «mS® £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions 

16. What is Bank reconciliation statement? Explain the 
method of preparing it.  

 Á[Q \›UPmk® £mi¯À GßÓõÀ GßÚ? Ax u¯õ›US® 
•øÓ÷¯ ÂÍUSP. 
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17. On 31st March 2015, the following Trial Balance was 
extracted from the books at Abinav Bindra:  

Particulars Dr 
Rs. 

Cr 
Rs. 

Capital - 50,000

Plant and machinery 80,000 -

Sales - 1,77,000

Purchases 60,000 -

Returns 1,000 750

Opening stock 30,000 -

Discounts 350 800

Bank Charges 75 -

Sundry debtors 45,000 -

Sundry creditors - 25,000

Salaries 6,800 -

Manufacturing wages 10,000 -

Carriage inwards 750 -

Carriage outwards 1,200 -

Bad debts provision - 525

Rent, rates and taxes 10,000 -

Advertisement 2,000 -

Cash in hand 900 -

Cash at bank 6,000 -

Total 2,54,075 2,54,075
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 Prepare final accounts for the year ended 31st March 2015 
and the balance sheet as on that date.  

 The following adjustments are required  

 (a) Closing stock Rs. 35,000 

 (b) Depreciation of plant @6% 

 (c)  Bad debts provision to be adjusted to Rs. 500 

 (d)  Interest on capital to be allowed at 10% p.a. 

 (e)  2.5% of the profit is to be carried to Reserve fund.  

 v¸. A¤ÚÆ ¤¢vμõ Gß£Á›ß 31.3.2015 AßÖÒÍ 
£i¯õÚ C¸¨¦ ÷\õuøÚ £mi¯À R÷Ç uμ¨£mkÒÍx. 

ÂÁμ[PÒ £ØÖ 
¹. 

ÁμÄ 
¹. 

•uÀ - 50,000

C¯¢vμ öuõSv²® C¯¢vμ•® 80,000 -

ÂØ£øÚ - 1,77,000

öPõÒ•uÀ 60,000 -

v¸¨£[PÒ 1,000 750

Bμ®£ øP°¸¨¦ 30,000 -

uÒÐ£iPÒ 350 800

Á[QU Pmhn[PÒ 75 -

£Ø£» PhÚõÎPÒ 45,000 -

£Ø£» PhÚõÍºPÒ - 25,000

\®£Í[PÒ 6,800 -

EØ£zvU T¼PÒ 10,000 -

EÒyUS T¼ 750 -

öÁÎyUS T¼ 1,200 -

ÁμõUPhß Põ¨¦ - 525
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ÂÁμ[PÒ £ØÖ 
¹. 

ÁμÄ 
¹. 

ÁõhøP, Á› ©ØÖ® Ãu® 10,000 -

ÂÍ®£μ® 2,000 -

øPÁ\ öμõUP® 900 -

Á[Q°À öμõUP® 6,000 -

 2,54,075 2,54,075

 31.3.2015&À •iÄÖ® Bsiß CÖv PnUøP²® 
AßÖÒÍ£i¯õÚ C¸¨¦ {ø» SÔ¨ø£²® u¯õº ö\´P.  

 RÌPsh \›PmhÀPÒ ÷uøÁ  

 (A) CÖv \μUQ¸¨¦ ¹. 35,000 

 (B) C¯¢vμ® «x ÷u´©õÚ® 6% 

 (C) ÁμõU PhßPÐUPõP Põ¨¦ \›Pmh ÷Ási¯x ¹. 500 

 (D) •uÀ «x BsiØS 10% Ámi AÝ©vUP ÷Ásk®. 

 (E) C»õ£zvÀ 2.5% Põ¨¦ {vUS Gkzxa ö\À» 
÷Ásk®. 

18. A company whose accounting year is the calendar year, 
purchased on 1.1.2013 a machine for Rs. 40,000. It 
purchased further machinery on 1st October, 2013 for  
Rs. 20,000 and on 1st July 2014 for Rs. 10,000. On 
1.7.2015, 1/4th of the machinery installed on 1.1.2013 
became obsolete and was sold for Rs. 6,800.  

 Show the machinery account for 3 years under 
diminishing balance method Depreciation is to be 
provided at 10% p.a. 

 J¸ {ÖÁÚ® Põ»shº Bsøh {v BshõP öPõsk 
1.1.2013 AßÖ C¯¢vμ® JßøÓ ¹.40,000US öPõÒ•uÀ 
ö\´ux. 1.10.2013 AßÖ ¹.20,000 ©v¨¦ÒÍ C¯¢vμ® 
JßøÓ Áõ[Q¯x. ÷©¾® 1.7.2014 AßÖ ¹.10,000 
©v¨¦ÒÍ C¯¢vμ® JßÖ Áõ[P¨£mhx. 1.1.2013 AßÖ 
öPõÒ•uÀ C¯¢vμzvß ©v¨¤À 1/4

  
£[S ©v¨¦ÒÍ 

C¯¢vμzøu 1.7.2015 AßÖ ¹.6,800 US ÂØ£øÚ 
ö\´ux. 
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÷©¾® Põq® uPÁÀPøÍU öPõsk ‰ßÖ BsiØPõÚ 
C¯¢vμU PnUøP 10% ÷u´©õÚ® GÚU öPõsk, 
SøÓ¢xö\À ©v¨¦ •øÓ°À PõsP. 

19. C, D and E were partners sharing profits in the 

proportions of 
6
1

:
3
1

:
2
1

 respectively. The balance sheet of 

the firm on 31.12.2014 was as under:  
Liabilities Rs. Assets  Rs. 

 Cash at bank 2,500
Creditors 19,000 Debtors 16,000
Bills payable 5,000 (-) Provision 500 15,500

Reserve fund 12,000 Stock 25,000
Capital  Motor vans 8,000
accounts: Plant and 

C 40,000 Machinery 35,000
D 30,000 Factory 
E 25,000 Building 45,000

 1,31,000  1,31,000

‘D’ retires 31.12.2014 on that date subject to the following 
conditions:  

 (a) The goodwill of the firm to be valued at Rs.18,000. 

 (b) Plant to be depreciated by 10% and the motor vans 
by 15% 

 (c) Stock to be depreciated by 20% and building by 
10%. 

 (d) Provision for doubtful debts to be increased by  
Rs. 1,950. 

 (e) Liability for workmen’s compensation to the extent 
of Rs.1,650 is to be brought into a/c. 

  It was agreed that C and E will share profits in 
future in the ratio of C 3/5 and E 2/5. Prepare 
Revaluation a/c, Capital a/c and the Balance sheet. 
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 C, D ©ØÖ® E BQ¯ ‰Á¸® 
6
1

:
3
1

:
2
1

 GßÓ ÃuzvÀ 

C»õ£zøu¨ £[Rk® TmhõÎPÒ. 31.12.2014 AßÖ 
{ÖÁÚzvß C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

Aø©¢xÒÍx:  
ö£õÖ¨¦PÒ ¹. ö\õzxPÒ  ¹. 

PhÚõÍºPÒ 
 

19,000 Á[Q°À öμõUP® 2,500

ö\¾zxuØS›¯ PhÚõÎPÒ 16,000
Esi¯ÀPÒ 5,000 (-) JxURk 500 15,500

Põ¨¦ {v 12,000 \μUQ¸¨¦ 25,000

•uÀ PnUSPÒ: ÷©õmhõº ÷Áß 8,000

                   C 40,000 C¯¢vμ® 35,000

                   D 30,000 Pmih® 45,000

                  E 25,000  

 1,31,000  1,31,000

31.12.2014 AßÖ ‘D’ ¤ßÁ¸® \›PmhÀPÐUS 

Ehß£mk {ÖÁÚzøu Âmk Â»SQÓõº:  

 (A) {ÖÁÚzvß |Øö£¯º ¹. 18,000 BP ©v¨¤h¨£k®. 

 (B) C¯¢vμ® «x 10%&®, ÷©õmhõº ÷ÁßPÒ «x 
15%&® ÷u´©õÚ® GÊu¨£h ÷Ásk®. 

 (C) \μUQ¸¨¦ 20% Ãu•®, Pmih® 10%&® ©v¨¦¯ºÄ 
ö\´¯¨£h ÷Ásk®. 

 (D) I¯UPhß JxURkPÒ ¹. 1,950 AvP›UP¨£h 
÷Ásk®. 

 (E) öuõÈ»õÍº CÇ¨¥mk ö£õÖ¨¦ ¹. 1,650 Áøμ 
PnUQÀ öPõsk Áμ¨£h ÷Ásk®. 

 GvºPõ»zvÀ C²® E²® 3/5 ©ØÖ® 2/5 GßÓ ÃuzvÀ 
C»õ£ |mh[PøÍ £Qº¢x öPõÒÍ Ehß£mhÚº. 

 ©Ö©v¨¥mkU PnUS, •uÀ PnUSPÒ ©ØÖ® 
C¸¨¦{ø»U SÔ¨¦ BQ¯ÁØøÓ u¯õ›UPÄ®. 



D–7269
  12

20.  Lingam Ltd., issued 10,000 shares of Rs. 100 each at 10% 
premium. The payments were to be made as follows:  

       Rs. 

 On application   20 

 On allotment   40 (including premium) 

 On first and final call  50. 

 Applications for 20,700 Shares were received. One 
application for 700 shares was rejected. Rest were 
allotted on pro-rata basis. All money were received except 
the call money on 100 shares. These shares were forfeited 
and reissued as fully paid at Rs. 95 per share. Pass 
journal entries. 

 ¼[P® Áøμ¯Ö {Ö©® 10,000 £[SPøÍ £[öPõßÖUS 
¹.100 Ãu® 10% •øÚ©zvÀ öÁÎ°mhx. ö\¾zu¨£h 
÷Ási¯ •øÓ R÷Ç öPõkUP¨£mkÒÍx. 

       ¹.  

 Âsn¨£zvß ö£õÊx 20 

 JxURmiß ö£õÊx 40 (•øÚ©® Em£h) 

 •uÀ ©ØÖ® CÖv AøÇ¨¦ 50. 

 20,700 Âsn¨£[PÒ ö£Ó¨£mhÚ. J¸ 
Âsn¨£zvØPõÚ 700 £[SPÒ {μõP›UP¨£mhÚ. 

 «u•ÒÍ £[SPÒ ÂQu AÍÄ •øÓ°À JxURk 
ö\´¯¨£mhx. 100 £[SPÐUPõÚ Cμsk AøÇ¨¦ 
£nzøu uÂμ ©ØÓ GÀ»õz öuõøP²® ö£Ó¨£mhx. C¢u 
£[SPÒ ©mk® JÖ¨¤Ç¨¦ ö\´x ¹.95&US ©ÖöÁÎ±k 
ö\´¯¨£mhx. SÔ¨÷£k £vÄPøÍ u¸P. 

 ——————— 



  

D–7270   

DISTANCE EDUCATION 

Common For B.Com/B.Com. (CA) DEGREE EXAMINATION, 
DECEMBER 2022. 

Second Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Write any two objectives of financial management. 

 {v°¯À ÷©»õsø©°ß Cμsk ÷|õUP[PøÍ TÖP. 

2. Define capital structure. 

 ‰»uÚ Pmhø©¨¦ C»UPn® u¸P. 

3. What do you mean by dividend? 

 £[Põuõ¯® GßÓõÀ GßÚ? 

4. Differentiate average cost from marginal cost. 

 \μõ\› AhUPzv¼¸¢x CÖv{ø» AhUPzøu ÷ÁÖ£kzxP. 

5. What is operating cycle? 

 ö\¯»õUP `ÇØ] Gß£x GßÚ? 

6. State any two advantages of stock dividend. 

 FUP¨ £[Põuõ¯zvß |ßø©PÒ H÷uÝ® CμsiøÚU 

SÔ¨¤kP. 

Sub. Code 
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7. What are the components of working capital? 

 |øh•øÓ ‰»uÚzvß TÖPÒ ¯õøÁ? 

8. Explain the concept of time value of money. 

 Põ»zvß £n ©v¨¦ P¸zvøÚ ÂÍUSP. 

9. What do you understand by cash management? 

 öμõUP ÷©»õsø© Gß£x £ØÔ }Âº ¦›¢x öPõÒÁx 

GßÚ? 

10. What is Capital? 

 ‰»uÚ® GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain Walter model of dividend. 

  ÁõÀhº £[Põuõ¯ Aø©¨¤øÚ ÂÍUSP. 

Or 

 (b) Project X has an initial investment of Rs. 2,50,000. 
Its cash flow for 5 years are Rs. 75,000; Rs. 90,000; 
Rs. 75,000; Rs. 66,000 and Rs. 80,000. Determine 
the pay back period. 

  vmhªk X ¹.2,50,000 öuõhUP •u½k ö\´ux. Cuß 

öμõUP Kmh[PÒ 5 Á¸h[PÒ •øÓ÷¯ ¹.75,000; 

¹.90,000; ¹.75,000; ¹.66,000 ©ØÖ® ¹.80,000 v¸¨¤ 

ö\¾zx® Põ»zøu PshÔP. 

12. (a) Write a short notes on net assets value. 

  {Pμ ö\õzx ©v¨¤ß «x ]Ö SÔ¨¦ ÁøμP. 

Or 
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 (b) A company issues Rs. 10,00,000; 13% debentures at 
a discount of 5%. The debentures are redeemable 
after 5 years at a premium of 5%. Calculate before 
tax and after tax cost of debt, if the tax rate is 50%. 

  J¸ {Ö©® 13% Phß £zvμzøu ¹.10,00,000ø¯ 5% 

ÁmhzvÀ öÁÎ°kQßÓx. Ax I¢x BskPÒ 

PÈzx 5% •øÚ©zvÀ «mP¨£kQßÓx. Á› ÂQu® 

50% GÚ öPõsk, Á›US •¢øu¯ ©ØÖ® ¤¢øu¯ 

Phß‰»uÚ AhUPzøu PnUQkP. 

13. (a) “Finance is the life blood of Industry”. Explain. 

  “öuõÈØ\õø»°À {v Cμzu Kmh® ÷£õßÓx” 
ÂÍUSP. 

Or 

 (b) Units sold Rs.5,000; selling price per unit Rs. 30; 
variable cost per unit Rs. 20; Earning Before 
Interest and Taxes Rs. 30,000; 10% public debt Rs. 
1,00,000. Calculate operating and financial 
leverage.  

  A»S ÂØ£øÚ ¹.5,000; ÂØ£øÚ Âø» Kº A»S 

¹.30;©õÖ® ö\»ÄPÒ  Kº A»S ¹.20 Á› ©ØÖ® 

ÁmiUS •¢øu¯ C»õ£® ¹.30,000; 10% ö£õx Phß 

£zvμ® ¹.1,00,000. ö\¯À ©ØÖ® {v A¢{ø» 

Psk¤iUP. 

14. (a) What are the different sources of long term finance? 

  }sh Põ» {v ÷\P›zu¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Monthly cash requirements = Rs. 60,000 
  Fixed cost per transaction = Rs. 10 
  Interest rate on marketable securities = 6% p.a. 
  You are required to calculate optimum cash 

balance. 
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  ©õuöμõUP ÷uøÁ = ¹.60,000 

  {ø»¯õÚ ö\»Ä J¸ |hÁiUøPUS = ¹.10 

  \¢øu £zvμzvß «uõÚ Ámi = 6% J¸ BskUS 

ö£Ó¨£mh uPÁÀPÎ¼¸¢x Ezu© öμõUP C¸¨ø£ 

PnUQhÄ®. 

15. (a) Explain the importance of working capital for a 
manufacturing concern. 

  J¸ EØ£zv Bø»°À |øh•øÓ ‰»uÚzvß 

•UQ¯zxÁ® £ØÔ ÂÍUPÄ®. 

Or 

 (b) The earnings per share of Nadal Ltd. are Rs. 15 and 
the rate of capitalization applicable to the company 
is 12%. The productivity of earnings (r) is 12%. 
Compute the market value of company’s share if the 
payout is (i) 20% (ii) 50% (iii) 70%. Which is the 
optimum payout? 

  |hõÀ ¼ªöhmiß £[S JßÔß Á¸Áõ´ ¹.15 ©ØÖ® 

Auß •u»õUP ÂQu® 12% Auß {Özv øÁUP¨£mh 

C»õ£zvß EØ£zv vÓß 12% GÛÀ, {Ö©zvß £[S 

©v¨¤øÚ ¤ßÁ¸ÁÚÁØÔØS PõsP. (i) £[Põuõ¯® 

ö\¾zuÀ ÁÈ 20% (ii) £[Põuõ¯® ö\¾zuÀ ÁÈ 50% 

(iii) £[Põuõ¯® ö\¾zuÀ ÁÈ 70%. CÁØÔÀ GøÁ 

\©{ø» £[Põuõ¯ AÍÄ GÚ PõsP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the factors influencing working capital. 

 |øh•øÓ •uø» £õvUS® PõμoPøÍ ÂÍUSP. 
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17. The following is the capital structure of Strong Ltd. 
Source Amount  Market value C/C

14% Preference capital 2,00,000  2,30,000 14%

Equity capital 5,00,000  7,50,000 17%

16% debt 3,00,000  2,70,000 8%

Total 10,00,000  12,50,000

 Calculate the weighted average cost of capital, using book 
value weights and market value weights. 

 ìmμõ[ {Ö©zvß ‰»uÚ Pmhø©¨¦ ¤ßÁ¸©õÖ : 

‰»[PÒ öuõøP  \¢øu ©v¨¦ Qμ¯®

14% •ßÝ›ø© £[SPÒ 2,00,000  2,30,000 14%

\© £[SPÒ 5,00,000  7,50,000 17%

16% PhÜmk¨ £zvμ® 3,00,000  2,70,000 8%

ö©õzu® 10,00,000  12,50,000

 Gøh°h¨£mh \μõ\› ‰»uÚ AhUPzøu ¦zuP ©v¨¤¾® 

©ØÖ® \¢øu ©v¨¤¾® PnUQkP. 

18. Distinguish between primary market and secondary 
market. 

 •ußø© \¢øuUS® ©ØÖ® Cμshõ® {ø» \¢øuUS® 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍz u¸P. 

19. The Raja Ltd. has Rs. 3,00,000 to invest. The company is 
trying to decide between two alternatives use of funds the 
alternatives are 

Criteria Project A Project B 

Investment cost Rs. 30,000 Rs. 30,000 

Annual cash earnings Rs. 8,000 - 

Single cash inflow at the  
end of 10th year 

 
- 

 
Rs. 1,20,000

Life of the project 10 years 10 years

 The company’s cost of capital is 15% which project would 
you recommend the company to accept. 
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Cμõáõ ¼ªöhmk 3,00,000 øÁzxÒÍx. •u½k 

ö\´ÁuØPõP A¢u {Ö©® Cμsk ©õØÖ {v £¯ß£õmk 

vmhzøu ÷¯õ]zxU öPõsk°kUQÓx. ©õØÖ vmh[PÒ 

¤ßÁ¸©õÖ : 

PõμoPÒ  vmh® A vmh® B 

•u½k AhUP® ¹.30,000 ¹. 30,000 

Bsk öμõUP Á¸Áõ´ ¹. 8,000 -– 

10Áx Bsk CÖv°À 

QøhUS® J¸ öμõUP Kmh® 

– ¹.1,20,000 

vmhzvß B²Ò Põ»® 10 BskPÒ 10 BskPÒ

 {Ö©zvß AhUP ö\»Ä 15% G¢u vmhzøu }Âº A¢u 

{Ö©zxUS £›¢xøμ ö\´Ãº? 

20. Calculate the market price of a share of Pollard Ltd. 
under Walter’s Formula and Gordon model from the 
following data: 

 Earnings per share  Rs. 75 
 Dividend per share  Rs. 45 
 Cost of capital   15% 
 Rate of return on investment 18% 
 Retention ratio    40% 

 ÁõÀhº ©ØÖ® Põºhß `zvμzøu¨ £¯ß£kzv, ¤ßÁ¸® 

ÂÁμ[PÎ¼¸¢x ÷£õ»õºk {Ö©zvß £[SPÎß \¢øu 

©v¨ø£ PnUQkP. 

 J¸ £[Qß Á¸Áõ´  ¹. 75 

 J¸ £[Qß £[Põuõ¯®  ¹. 45 

 ‰»uÚ Qμ¯®           15% 

 •u½miß «x Á¸Áõ´  18% 

 {Özv øÁUP¨£k® Á¸Áõ´   40% 

———————— 
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HUMAN RESOURCE MANAGEMENT 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by training? 

 £°Ø]°ß ö£õ¸Ò GßÚ? 

2. Define grievances. 

 SøÓPøÍ Áøμ¯Ö. 

3. Write a short notes on human resource planning. 

 ©ÛuÁÍ vmhªhÀ SÔzx J¸ ]Ö SÔ¨¦PøÍ GÊxP. 

4. Succession planning – Explain. 

 Akzukzu vmhªhÀ – ÂÍUSP. 

5. List the various incentive schemes. 

 £À÷ÁÖ FUPz vmh[PøÍ £mi¯¼kP. 

6. What do you mean by psychological appraisal. 

 EÍÂ¯À ©v¨¥mhõÀ GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a note on piece wages system. 

 xsk Fv¯ •øÓ SÔzx J¸ SÔ¨¦ GÊxP. 

8. Define time wage. 

÷|μ Fv¯zøu Áøμ¯Ö. 

9. What is refresher training? 

¦x¨¤¨¦ £°Ø] GßÓõÀ GßÚ? 

10. Write a short note on source of employee recruitment. 

 £o¯õÍº Bm÷\º¨¦UPõÚ Buõμ® SÔzx J¸ ]Ö 
SÔ¨ø£ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Discuss the importance of training programme. 

  £°Ø] vmhzvß •UQ¯zxÁzøu¨ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) List the non-financial incentives for top level 
managers. 

  E¯º©mh ÷©»õÍºPÐUPõÚ {v AÀ»õu 
\¾øPPøÍ £mi¯¼kP. 

12. (a) Enumerate various grievances redressal pocedures. 

  £À÷ÁÖ SøÓPøÍ {Áºzv ö\´²® {ø»PøÍ 
PnUQkP. 

Or 

 (b) Discuss the need and objectives of training 
programme. 

  £°Ø]z vmhzvß ÷uøÁ ©ØÖ® SÔU÷PõÒPøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 
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13. (a) Differentiate on-the-job training with off-the-job 
training. 

  ÷Áø»US öÁÎ÷¯ £°Ø]²hß ÷Áø»°À EÒÍ 
£°Ø]ø¯ ÷ÁÖ£kzxP. 

Or 

 (b) What are the features of Human Resource 
Management? 

  ©Ûu ÁÍ {ºÁõPzvß A®\[PÒ ¯õøÁ? 

14. (a) Explain the factors affecting recruitment. 

  Bm÷\º¨ø£ £õvUS® PõμoPøÍ ÂÍUSP. 

Or 

 (b) What are the functions of the Labour Welfare 
Officer? 

  öuõÈ»õÍº |» A¾Á»›ß ö\¯À£õkPÒ GßÚ? 

15. (a) Discuss the process of Empowerment. 

  AvPõμ©ÎzuÀ ö\¯À•øÓ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain the significance of wage and salary. 

  Fv¯® ©ØÖ® \®£Ízvß •UQ¯zxÁzøu 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Briefly discuss the wage policies of India. 

 C¢v¯õÂß Fv¯U öPõÒøPPøÍa _¸UP©õP 
ÂÁõvUPÄ®. 

17. Distinguish between training and education. 

 £°Ø] ©ØÖ® PÀÂUS Cøh°À ÷ÁÖ£k[PÒ ¯õøÁ? 
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18. Describe the factors influencing of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß uõUPzøu HØ£kzx® PõμoPøÍ 
ÂÁ›UPÄ®. 

19. Explain the qualities and qualifications required for HR 
manger. 

©ÛuÁÍ ÷©»õÍ¸USz ÷uøÁ¯õÚ Sn[PÒ ©ØÖ® 
uSvPøÍ ÂÍUSP. 

20. What are the factors influencing wage and salary 
administration? 

 Fv¯® ©ØÖ® \®£Í {ºÁõPzøu £õvUS® PõμoPÒ 
¯õøÁ?  

———————— 
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PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by marketing? 

 \¢øu¨£kzxuÀ £ØÔ AÔÁx GßÚ? 

2. Explain the term of SWOT analysis. 

 SWOT £S¨£õ´Ä GÝ® £uzøu ÂÍUSP. 

3. What is marketing Mix? 

 \¢øu¨£kzxuÀ P»øÁ GßÓõÀ GßÚ? 

4. What is marketing strategies? 

 \¢øu¨£kzxu¼ß EzvPÒ GßÓõÀ GßÚ? 

5. What is meant by Branding? 

 ÁoP SÔ±k £ØÔ AÔÁx GßÚ? 

6. What is pricing decision? 

 Âø» •iÄPÒ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by distribution channel? 

 ÁÇ[PÀ ÁÈ £ØÔ AÔÁx GßÚ? 

8. What is meant by advertising decisions? 

ÂÍ®£μ •iÄPÒ £ØÔ AÔÁx GßÚ? 

9. What is Market Segmentation? 

\¢øu¨ £S¨¦ GßÓõÀ GßÚ? 

10. Write a note on consumer behavior. 

 ~Pº÷Áõº |hzøu £ØÔ SÔ¨¦ ÁøμP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Explain the scope of marketing. 

  \¢øu¨£kzxu¼ß GÀø»°øÚ ÂÁ›UP. 

Or 

 (b) What are the need and importance of environmental 
analysis? 

  _ØÖa`ÇÀ £S¨£õ´Âß ÷uøÁ ©ØÖ® •UQ¯zxÁ[PÒ 
¯õøÁ? 

12. (a) Examine the components of traditional marketing 
mix. 

  £õμ®£›¯ \¢øu¨£kzxuÀ P»øÁ°ß TÖPøÍ 
Bμõ´P. 

Or 

 (b) What are the various types of marketing plan? 

  \¢øu¨£kzxuÀ vmhzvß £À÷ÁÖ ÁøPPÒ 
¯õøÁ? 
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13. (a) State the features of a product. 

  J¸ ö£õ¸Îß A®\[PøÍ SÔ¨¤kP. 

Or 

 (b) What are the objectives of pricing decision? 

  Âø»°hÀ •iÄPÎß ÷|õUP[PÒ ¯õøÁ? 

14. (a) What are the components of promotion mix? 

  FUSÂ¨¦ P»øÁ°ß TÖPÒ ¯õøÁ? 

Or 

 (b) Distinguish between direct channel and indirect 
channel. 

  ÷|μi ÁÇ[PÀ ÁÈ ©ØÖ® ©øÓ•P ÁÇ[PÀ ÁÈø¯ 
÷ÁÖ¨£kzxP. 

15. (a) Explain the need for marketing segmentation. 

  \¢øu¨£kzxuÀ £S¨¤ß AÁ]¯zøu ÂÍUSP. 

Or 

 (b) State the distinction between goods and services. 

  ö£õ¸mPÒ ©ØÖ® ÷\øÁPÐUS Cøh°»õÚ 
÷ÁÖ£õmøh SÔ¨¤kP. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE out of Five questions. 

16. Discuss the various functions of marketing. 

 \¢øu¨£kzxu¼ß £À÷ÁÖ £oPøÍ ÂÁõvUP. 

17. Explain the different phases of product life cycle. 

 ö£õ¸Ò B²Ò _ÇØ]°ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 



D–7272 
  4

18. Explain the various factors affecting for pricing decisions. 

 Âø»°hÀ •iÄPøÍ £õvUPUTi¯ £À÷ÁÖ PõμoPøÍ 
ÂÍUSP. 

19. Examine the developing an integrated promotional mix. 

J¸[Qøn¢u FUSÂ¨¦ P»øÁø¯ E¸ÁõUSÁøu 
Bμõ´P. 

20. What are the determinants of consumer behavior? 
Explain. 

 ~Pº÷Áõº |hzøuø¯ wº©õÛUPUTi¯ PõμoPÒ ¯õøÁ? 
ÂÍUSP. 

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2022. 

Second Semester 

MERCANTILE LAW 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three  hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by Business law? 

 ÁoPa \mh® £ØÔ AÔÁx GßÚ? 

2. What is Contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

3. Write a short note on Sale of Goods Act 1930. 

 ö£õ¸mPÒ ÂØ£øÚa \mh® 1930I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. What is meant by promissory note? 

 EÖvö©õÈ £zvμ® £ØÔ AÔÁx GßÚ? 

5. What is Bill of Exchange? 

 £›©õØÓ Esi¯À GßÓõÀ GßÚ? 

6. Write a short note on cheque. 

 Põ÷\õø» £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Sub. Code 
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7. What is meant by intellectual property rights? 

 AÔÄ\õº ö\õzx›ø© £ØÔ AÔÁx GßÚ? 

8. Write a short note on FEMA.  

 FEMA £ØÔ ]Ö SÔ¨¦ ÁøμP. 

9. What is meant by E-governance? 

 ªß BÐø© £ØÔ AÔÁx GßÚ? 

10. What is cyber law? 

 ø\£º \mh® GßÓõÀ GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) State the essentials of a contract. 

  J¨£¢uzvß Azv¯õÁ]¯[PøÍU SÔ¨¤kP. 

Or 

 (b)  What are the different kinds of agencies? 

  •Pø©°ß öÁÆ÷ÁÖ ÁøPPÒ ¯õøÁ? 

12. (a) What are the performance of contract? 

  J¨£¢uzvß ö\¯ÀvÓß Gß£Ú ¯õøÁ? 

Or 

 (b) State the discharge of a negotiable instrument. 

  J¸ ©õØÖ•øÓ BÁnzøu J¨£øh¨£øu £ØÔ 

SÔ¨¤hÄ®. 
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13. (a) State the features of partnership. 

  Tmhõsø©°ß A®\[PøÍU TÓÄ®. 

Or 

 (b) Explain the central consumer protection council. 

  ©zv¯ ~Pº÷Áõº £õxPõ¨¦ \ø£ø¯ £ØÔ ÂÍUSP.  

14. (a) Explain the scope of FEMA. 

  FEMAÂß ÷|õUPzøu ÂÍUSP.  

Or 

 (b)  What are the rights of patentee? 

  Põ¨¦›ø© ö£ØÓÁ›ß E›ø©PÒ ¯õøÁ? 

15. (a) What are the salient features of Information 
Technology Act 2000? 

  uPÁÀ öuõÈÀ ~m£ \mh® 2000Cß •UQ¯ A®\[PÒ 

¯õøÁ? 

Or 

 (b) Explain credit policy under micro, small and 
medium Enterprises Development Act 2006. 

  SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PÒ ÷©®£õmka \mh® 

2006ß RÌ Phß öPõÒøPø¯ ÂÍUPÄ®. 

PART C — (3 × 10 = 30 marks) 

Answer any THREE out of Five questions. 

16. Explain briefly the remedies available for breach of 
contract. 

 J¨£¢u «ÖøPUS QøhUP¨£k® £›Põμ[PøÍ _¸UP©õP 

ÂÍUSP.  
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17. What are the essentials of a contract of sale? Explain. 

 ÂØ£øÚ J¨£¢uzvß Azv¯õÁ]¯[PÒ ¯õøÁ? ÂÍUSP.  

18. Describe the various classifications of companies. 

 {Ö©[PÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP.  

19. Explain the salient features and provision of FEMA. 

 FEMA Cß •UQ¯ A®\[PÒ ©ØÖ® åμzxUPøÍ ÂÍUSP.  

20. Explain the government policy towards taxation and 
incentives in micro small and medium Enterprises 
Development Act 2006. 

 SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PÎß ÷©®£õmka \mh® 

2006 CÀ Á› Âv¨¦ ©ØÖ® FUSÂ¨¦ öuõhº£õÚ 

Aμ\õ[PU öPõÒøPø¯ ÂÍUPÄ®.  

 

——————— 
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DISTANCE EDUCATION 

B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2022. 

Third Semester 

E-COMMERCE 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. Mention the salient features of E-Commerce. 

 D&Põ©ºêß •UQ¯ A®\[PøÍU SÔ¨¤kP. 

2. Write any four web technologies frequently used in 
Internet network. 

 Cøn¯ Áø»¯ø©¨¤À AiUPi £¯ß£kzu¨£k® G¢u 

|õßS Áø» öuõÈÀ ~m£[PøÍ²® GÊxP.  

3. Define E-Marketing. 

 ªß \¢øu¨£kzuÀ Áøμ¯Ö. 

4. What are the uses of E-Commerce? 

 ªß ÁoPzvß £¯ßPÒ ¯õøÁ? 

5. Write a short note on WWW. 

 WWW CÀ J¸ ]Ö SÔ¨ø£ GÊxP. 

Sub. Code 
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6. What are cookies? 

 SURPÒ GßÓõÀ GßÚ? 

7. Explain Presentation layer. 

 ÂÍUPUPõm] AkUøP ÂÍUSP.  

8. Give the uses of Online marketing. 

 Bßø»ß ©õºUöPmi[ £¯ß£õkPøÍU öPõkUP. 

9. What is Internet? 

 Cøn¯® GßÓõÀ GßÚ? 

10. Write a note on Net Banking. 

 {Pμ Á[Q°À J¸ SÔ¨ø£ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the components of E-commerce?  

  ªß ÁoPzvß TÖPÒ ¯õøÁ? 

Or 

 (b) Explain the types of Electronic payment system. 

  ªßÚq Pmhn •øÓ°ß ÁøPPøÍ ÂÍUSP.  

12. (a) How Internet has helped in the growth of  
E-Commerce? 

  ªß ÁoPzvß ÁÍºa]°À Cøn¯® GÆÁõÖ 

EuÂ¯x? 

Or 

 (b) Explain the types of E-Commerce. 

  D&Põ©ºì ÁøPPøÍ ÂÍUSP.  
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13. (a) What are the categories of E-Commerce 
Applications?  

  ªß ÁoP® £¯ß£õkPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Explain the advantages of Internet. 

  Cøn¯zvß |ßø©PøÍ ÂÍUSP.  

14. (a) Write the benefits of Supply Chain Management. 

  Â{÷¯õP \[Q¼ {ºÁõPzvß |ßø©PøÍ GÊxP. 

Or 

 (b) Explain Electronic logistics and its Implementation. 

  ªßÚq uÍÁõh[PÒ ©ØÖ® Auß ö\¯À£õmøh 

ÂÍUSP.  

15. (a) What are the security issues related to Wireless 
Communication?  

  Á¯ºö»ì öuõhº¦ öuõhº£õÚ £õxPõ¨¦ ]UPÀPÒ 

¯õøÁ? 

Or 

 (b) Explain : 

  (i) Post Office Protocol (POP) 

  (ii) Simple Mail Transfer Protocol (SMTP). 

  ÂÍUSP : 

   (i) u£õÀ A¾Á»P ö|Ô•øÓ (POP) 

  (ii) GÎ¯ Ag\À £›©õØÓ ö|Ô•øÓ (SMTP). 
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SECTION C — (3  10 = 30 marks) 

Answer any THREE questions 

16. Describe the advantages of using XML over HTML? 

 HTMLI Âh XML £¯ß£kzxÁuß |ßø©PøÍ ÂÁ›UP. 

17. Discuss how E-Commerce is helpful to business success. 

 ÁoP öÁØÔUS D&Põ©ºì GÆÁõÖ EuÄQÓx Gß£øu¨ 

£ØÔ ÂÁõvUPÄ®. 

18. Elaborate the enterprise information portal. 

 {ÖÁÚ uPÁÀ ÷£õºmhø» Â›ÁõUSP. 

19. Explain the different steps involved in the development of 
an e-commerce web site.  

 D&Põ©ºì Áø»zuÍzvß ÁÍºa]°À Dk£mkÒÍ £À÷ÁÖ 

|hÁiUøPPøÍ ÂÍUSP.  

20. Discuss the different online marketing strategies in  
E-Commerce. 

 ÷uºuÀ Bøn¯zvÀ öÁÆ÷ÁÖ Bßø»ß \¢øu¨£kzuÀ 

EzvPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

 

——————— 
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DISTANCE EDUCATION 

B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2022. 

Third Semester 

AUDITING 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by auditing? 

 uoUøP ö\´Áx GßÓõÀ GßÚ? 

2. Write a note on sample checking.  

 ©õv› ÷\õuøÚ SÔzx J¸ SÔ¨ø£ GÊxP. 

3. What is balance sheet audit? 

 C¸¨¦{ø» uoUøP GßÓõÀ GßÚ? 

4. Write a short note on “Appointment of first auditor”. 

 ‘‘•uÀ uoUøP¯õÍ›ß {¯©Ú®’’ SÔzx J¸ ]Ö SÔ¨ø£ 

GÊxP. 

5. What is meant by Internal audit? 

 EÒ uoUøP GßÓõÀ GßÚ? 

6. What is meant by Shares Transfer Audit?  

 £[SPÒ £›©õØÓ uoUøP GßÓõÀ GßÚ?  

Sub. Code 
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7. Write a notes on Statutory audit. 

 \mhŸv¯õÚ uoUøP SÔzx SÔ¨¦PøÍ GÊxP. 

8. What are the different methods of Depreciation? 

 ÷u´©õÚzvß öÁÆ÷ÁÖ •øÓPÒ ¯õøÁ? 

9. What is share certificate? 

 £[S \õßÔuÌ GßÓõÀ GßÚ? 

10. Define depreciation. 

 ÷u´©õÚzøu Áøμ¯Ö.  

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the advantages of audit? 

  uoUøP°ß |ßø©PÒ GßÚ? 

Or 

 (b) Bring out the differences between reserves and 
provisions. 

  C¸¨¦PÐUS® ÂvPÐUS® Cøh°»õÚ 

÷ÁÖ£õkPøÍ GÊxP. 

12. (a) What are the causes of depreciation? 

  ÷u´©õÚzvß Põμn[PÒ ¯õøÁ? 

Or 

 (b) “Auditor is not valuer,” — Explain this statement.  

  ‘‘uoUøP¯õÍº ©v¨¥mhõÍº AÀ»’’ –  C¢u 

AÔUøPø¯ ÂÍUSP.  



D–7275 
  3

13. (a) Explain the scope of Internal Control. 

  EÒ Pmk¨£õmiß ÷|õUPzøu ÂÍUSP.  

Or 

 (b) What are the advantages of Continuous Audit? 

  öuõhºa]¯õÚ uoUøP°ß |ßø©PÒ GßÚ? 

14. (a) What are the rights of company auditor?  

  {ÖÁÚ uoUøP¯õÍ›ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) Differences between internal check and internal 
audit. 

  EÒ ÷\õuøÚ ©ØÖ® EÒ uoUøP Cøh÷¯ 

÷ÁÖ£õkPÒ ¯õøÁ? 

15. (a) Discuss the appointment of an auditor in casual 
vacancy. 

  \õuõμn Põ¼°hzvÀ J¸ uoUøP¯õÍº {¯©Ú® 

£ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain how cash in hand is verified. 

  øP°À EÒÍ £n® GÆÁõÖ \›£õºUP¨£kQÓx 

Gß£øu ÂÍUSP.  

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the objectives of auditing. 

 uoUøP°ß ÷|õUP[PøÍ ÂÍUSP.  



D–7275 
  4

17. What are the duties of an auditor regarding the valuation 
of goodwill and Investment? 

 |Àö»sn® ©ØÖ® •u½miß ©v¨¥k öuõhº£õP J¸ 

uoUøP¯õÍ›ß Phø©PÒ GßÚ? 

18. Explain the liabilities of an auditor. 

 J¸ uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ ÂÍUSP.  

19. How would you vouch the receipt side of your client’s 
Cash book? 

 E[PÒ ÁõiUøP¯õÍ›ß £n ¦zuPzvß μ^x £UPzøu 

GÆÁõÖ EÖv ö\´ÃºPÒ? 

20. Explain the audit procedures with regard to shares 
issued for cash. 

 £nzvØPõP ÁÇ[P¨£mh £[SPÒ öuõhº£õÚ uoUøP 

|øh•øÓPøÍ ÂÍUSP.  

—————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (LE)/ B.Com. (CA),  
B.Com. (CA) (LE) DEGREE EXAMINATION,  

DECEMBER 2022. 

Third Semester 

MERCHANT BANKING AND FINANCIAL SERVICES 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. State the qualities required for merchant banker. 

 ÁoP Á[Q¯¸USz ÷uøÁ¯õÚ uSvPøÍ u¸P. 

2. What is meant by issue management? 

 öÁÎ±mk ÷©»õsø© £ØÔ AÔÁx GßÚ? 

3. What is the difference between FCCB and FCEB? 

 FCCB ©ØÖ® FCEB Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? 

4. Write a note on depository participant. 

 øÁ¨¦z öuõøP £[÷PØ£õÍº £ØÔ SÔ¨¦ GÊxP. 

5. What are the differences between share and mutual 
fund? 

 £[S ©ØÖ® £μì£μ {v Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 

Sub. Code 
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6. Define the term leasing. 

 SzuøP GÝ® £uzøu Áøμ¯ÖUP. 

7. Write note on acquisition. 

 øP¯P¨£kzxuÀ £ØÔ SÔ¨¦ GÊxP. 

8. What do you mean by portfolio management? 

 öuõS¨¦ ÷©»õsø© £ØÔ }Âº AÔÁx GßÚ? 

9. Mention any two advantages of securitization.  

 £õxPõzu¼ß H÷uÝ® Cμsk |ßø©PøÍU SÔ¨¤kP. 

10. What is meant by invoice factoring?  

 Âø»¨£mi¯À Põμo¯õUP® £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the pre issue management activities of 
merchant banker? Explain. 

  ÁoP Á[Q¯›ß •ß öÁÎ±mk ÷©»õsø© 

|hÁiUøPPÒ ¯õøÁ? ÂÍUSP.  

Or 

 (b) State the functions performed by underwriters in 
issue management. 

  öÁÎ±mk ÷©»õsø©°À J¨¦Öv¯õÍºPÎß 

£oPøÍU SÔ¨¤kP. 

12. (a) Examine the various types of depository receipts. 

  £À÷ÁÖ ÁøP¯õÚ øÁ¨¦z öuõøP μ^xPøÍ B´Ä 

ö\´P. 

Or 
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 (b) List out the features of financial services. 

  {v ÷\øÁPÎß C¯À¦PøÍ £mi¯¼kP. 

13. (a) Explain the advantages of depository system. 

  øÁ¨¦zöuõøP •øÓø©°ß |ßø©PøÍ ÂÍUSP.  

Or 

 (b) Distinguish between financial lease and operating 
lease. 

  {v SzuøP ©ØÖ® ö\¯À£õmk SzuøPø¯ 

÷ÁÖ£kzxP. 

14. (a) Distinguish between hire purchase and leasing. 

  ÁõhøP öPõÒ•uÀ ©ØÖ® SzuøPø¯ ÷ÁÖ£kzxP. 

Or 

 (b) Bring out the features of portfolio management. 

  öuõS¨¦ ÷©»õsø©°ß C¯À¦PøÍ öÁÎU 

öPõnºP. 

15. (a) What are the characteristics of venture capital? 
Explain. 

  xoPμ ‰»uÚzvß ]Ó¨¤¯À¦PÒ ¯õøÁ? ÂÍUSP.  

Or 

 (b) Explain the advantages of factoring. 

  Põμo¯õUPzvß |ßø©PøÍ ÂÍUSP.  

SECTION C — (3  10 = 30 marks) 

Answer any THREE out of Five questions. 

16. Explain the functions performed by merchant bankers. 

 ÁoP Á[Q¯õÍºPÒ ÷©ØöPõÒÐ® £oPøÍ ÂÍUSP.  
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17. Discuss some of the innovative financial instruments 
introduced in recent times in the financial service sector. 

 {va ÷\øÁz xøÓ°À \«£zv¯ Põ»[PÎÀ 

AÔ•P¨£kzu¨£mh ]» ¦xø©¯õÚ {vU P¸ÂPøÍ¨ 

£ØÔ ÂÁõvUP. 

18. Describe the various schemes that can be offered by 
mutual funds. 

 £μì£μ {vPÒ ÁÇ[PUTi¯ £À÷ÁÖ vmh[PøÍ ÂÁ›UP. 

19. Explain the advantages and disadvantages of mergers. 

 Cøn¨¦PÎß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÍUSP.  

20. Analyze the causes for the unpopularity of the concept of 
securitization in India.  

 C¢v¯õÂÀ £õxPõzuÀ P¸zuõUPzvß ö\ÀÁõUPØÓ 

ußø©UPõÚ Põμn[PøÍ £S¨£õ´Ä ö\´P. 

  

—————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (LE)/ B.Com. (CA),  
B.Com. (CA) (LE) DEGREE EXAMINATION,  

DECEMBER 2022. 

Third Semester 

MANAGERIAL ECONOMICS 

 (CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Managerial Economics. 

 ÷©»õsø© ö£õ¸Íõuõμzøu Áøμ¯ÖUPÄ®.  

2. What is demand forecasting?  

 ÷uøÁ •ßÚÔÂ¨¦ GßÓõÀ GßÚ? 

3. Write the meaning of Law of Demand.  

 ÷uøÁ Âv°ß Aºzuzøu GÊxP. 

4. What do you mean by Production Function?  

 EØ£zv ö\¯À£õk £ØÔ }Âº AÔÁx GßÚ? 

5. What is Cost function? 

 ö\»Ä ö\¯À£õk GßÓõÀ GßÚ? 

Sub. Code 
10234/12534/ 
12334/12834 



D–7277 
  2

6. What are the objectives of a firm? 

 J¸ {ÖÁÚzvß ÷|õUP[PÒ ¯õøÁ? 

7. Write any two characteristic features of Perfect 
Competition. 

 {øÓÄ¨ ÷£õmi°ß H÷uÝ® Cμsk ]Ó¨¤¯À¦ 

A®\[PøÍ GÊxP. 

8. Define Macro Economics. 

 ÷£›Ú¨ ö£õ¸Íõuõμzøu Áøμ¯ÖUPÄ®. 

9. What is Investment Function? 

 •u½mk ö\¯À£õk GßÓõÀ GßÚ? 

10. What do you mean by Inflation? 

 £nÃUP® £ØÔ }Âº AÔÁx GßÚ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Describe the significance of managerial economics. 

  ÷©»õsø© ö£õ¸Íõuõμzvß •UQ¯zxÁzøu 

ÂÁ›UPÄ®. 

Or 

 (b) What are the determinants of demand for consumer 
products?  

  ~Pº÷Áõº ö£õ¸mPÐUPõÚ ÷uøÁø¯ {ºn°US® 

PõμoPÒ ¯õøÁ? 
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12. (a) What are the factors determining the elasticity of 
supply? 

  Â{÷¯õPzvß ö|QÌa]zußø©ø¯ wº©õÛUS® 

PõμoPÒ ¯õøÁ? 

Or 

 (b) What are the objectives of Pricing policies? 

  Âø»U öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

13. (a) Explain the various types of Costs. 

  £À÷ÁÖ ÁøP¯õÚ ö\»ÄPøÍ ÂÍUSP.  

Or 

 (b) Write a short note on Profit Maximization Model.  

  »õ£zøu AvP¨£kzxuÀ ©õv› £ØÔ ]Ö SÔ¨ø£ 

GÊuÄ®. 

14. (a) Explain the characteristics of imperfect competition. 

  •Êø©¯ØÓ ÷£õmi°ß £s¦PøÍ ÂÍUSP.  

Or 

 (b) Write a short note on Oligopoly.  

  J¼÷Põ÷£õ¼ £ØÔ ]Ö SÔ¨ø£ GÊxP. 

15. (a) State the differences between monetary po1icy and 
fiscal policy. 

  £nÂ¯À öPõÒøPUS® {vU öPõÒøPUS® EÒÍ 

÷ÁÖ£õkPøÍU SÔ¨¤hÄ®. 

Or 

 (b) Explain the salient features of business cycle. 

  ÁoPa _ÇØ]°ß •UQ¯ A®\[PøÍ ÂÍUSP.  



D–7277 
  4

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elucidate Production function and Isoquants. 

 EØ£zv ö\¯À£õk ©ØÖ® I÷\õSÁõskPøÍ 

öuÎÄ£kzxP. 

17. Discuss the different cost concepts relevant to managerial 
decision for planning and control. 

 vmhªhÀ ©ØÖ® Pmk¨£õmiØPõÚ {ºÁõP •iÄPÐhß 

öuõhº¦øh¯ £À÷ÁÖ ö\»ÄU P¸zxUPøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

18. How important is profit maximisation to every business? 
Discuss the various reasons for limiting the profits. 

 JÆöÁõ¸ ÁoPzvØS® »õ£zøu AvP›¨£x GÆÁÍÄ 

•UQ¯®? »õ£zøuU Pmk¨£kzxÁuØPõÚ £À÷ÁÖ 

Põμn[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

19. Define Monopoly. Illustrate how price is determined 
under Monopoly. 

 HP÷£õPzøu Áøμ¯ÖUPÄ®. HP÷£õPzvß RÌ Âø» G¨£i 

{ºn°UP¨£kQÓx Gß£øu ÂÍUPÄ®. 

20. Describe the various measures taken by Government to 
control (a) Inflation (b) Deflation. 

 (A) £nÃUP® (B) £nÁõmhzøu Pmk¨£kzu Aμ\õ[P® 

Gkzu £À÷ÁÖ |hÁiUøPPøÍ ÂÁ›UPÄ®. 

 

—————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (LE)/ 
B.Com. (CA), B.Com. (CA) (LE) DEGREE EXAMINATION, 
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INSURANCE MANAGEMENT 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. State the role of agent in the life Insurance. 

 B²ÒPõ¨¥miÀ  •PÁ›ß £[øPU TÖP 

2. What is claim management? 

 E›ø©÷PõμÀ ÷©»õsø© GßÓõÀ GßÚ? 

3. Mention the types of motor Insurance policies. 

 ÷©õmhõº Põ¨¥mkU öPõÒøPPÎß  ÁøPPøÍU SÔ¨¤kP. 

4. What is non-life Insurance? 

 B²Ò AÀ»õu Põ¨¥k GßÓõÀ GßÚ? 

5. What do you mean by “Causaproxima”? 

 ‘‘P\õ¨μõUê©õ’’ GßÓõÀ GßÚ? 

Sub. Code 
10241/12541/ 
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6. Highlights the role of riders in Insurance policies. 

 Põ¨¥mkU öPõÒøPPÎÀ øμhºêß £[øP GÊxP. 

7. What do you mean by Insurance? 

 Põ¨¥k GßÓõÀ GßÚ? 

8. Write the significance of Insurance. 

 Põ¨¥miß •UQ¯zxÁzøu GÊxP. 

9. Write the meaning of Re-Insurance. 

 ©Ö Põ¨¥miß Aºzuzøu GÊxP. 

10. What is personal risk? 

 uÛ¨£mh A£õ¯[PÒ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write the critical aspects of auation industry. 

  H²åß xøÓ°ß •UQ¯©õÚ A®\[PøÍ GÊxP. 

Or 

 (b) What are the factors affecting the activation 
performed by the underwriter. 

  Ashºøμmhº {PÌzv¯ ö\¯À£õmøh £õvUS® 

PõμoPÒ ¯õøÁ? 

12. (a) Explain the types of business and personal risks. 

  ÁoP ÁøPPÒ ©ØÖ® uÛ¨£mh A£õ¯[PøÍ 

ÂÍUSP.  

Or 
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 (b) Write the general structure of Insurance market. 

  Põ¨¥mk \¢øu°ß ö£õxÁõÚ Pmhø©¨ø£ GÊxP. 

13. (a) Explain the significance of determining solvency 
margins. 

  Pøμ¨¦ Kμ[PøÍ wº©õÛ¨£uß •UQ¯zxÁzøu 

ÂÍUSP.  

Or 

 (b) Write the reforms in Indian Insurance Industry. 

  C¢v¯ Põ¨¥mkz xøÓ°À ^ºv¸zu[PøÍ GÊxP. 

14. (a) Explain the framework for IRDA rules and 
regulations regarding general Insurance. 

  ö£õxPõ¨¥k öuõhº£õÚ IBºiH ÂvPÒ ©ØÖ® 

JÊ[S •øÓPÐUPõÚ Pmhø©¨ø£ ÂÍUSP.   

Or 

 (b) Elaborate the role of rural Insurance. 

  Qμõ©¨¦Ó Põ¨¥miß £[øP Â›ÁõPU TÖP. 

15. (a) Write the steps involved in process of Insurance 
underwriter. 

  Põ¨¥mk GÊzxÖv ö\¯À£õmiÀ Dk£mkÒÍ 

£iPøÍ GÊxP. 

Or 

 (b) Write short notes of Re-Insurance. 

  ©Ö Põ¨¥miß ]Ö SÔ¨¦PøÍ GÊxP. 
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SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain tools and techniques used in pricing individual 
life and health Insurance.  

 uÛ¨£mh ÁõÌUøP ©ØÖ® _Põuõμ Põ¨¥møh Âø» 

{ºn¯® ö\´ÁvÀ £¯ß£kzu¨£k® P¸ÂPÒ ©ØÖ® 

~m£[PøÍ ÂÍUSP.   

17. Briefly Explain information technology in Insurance. 

 Põ¨¥miÀ uPÁÀ öuõÈÀ ~m£zøu _¸UP©õP ÂÍUSP.  

18. Write the future trends in the domain of Insurance 
product design and development. 

 Põ¨¥mk u¯õ›¨¦ ÁiÁø©¨¦ ©ØÖ® ÷©®£õmk PÍzvÀ 

GvºPõ» ÷£õUSPøÍ GÊxP. 

19. Explain the types of documents needed in various types 
of documents.  

 £À÷ÁÖ ÁøP¯õÚ BÁn[PÎÀ ÷uøÁ¯õÚ 

BÁn[PÎß ÁøPPøÍ ÂÍUSP.  

20. Write the role of riders in Insurance policies. 

 Põ¨¥mkU öPõÒøPPÎÀ øμhºêß £[øP GÊxP. 

————— 
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DISTANCE EDUCATION 

Common for B.Com./ B.Com. (LE), B.Com. (CA), B.Com. (CA) 
(LE) DEGREE EXAMINATION, DECEMBER 2022. 

Fourth Semester 

BUSINESS STATISTICS 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is Binomial Distribution? 

D¸Ö¨¦¨ £μÁÀ GßÓõÀ GßÚ?  

2. Define probability.  

 {PÌuPøÁ Áøμ¯ÖUPÄ®. 

3. What is meant by primary data?  

 •ußø© Â£μ® GßÓõÀ GßÚ? 

4. Define degree of freedom.  

 Pmißø© TÖPÒ & Áøμ¯Ö. 

5. What are the uses of index number?  

 SÔ±möhsPÎß £¯ßPÒ ¯õøÁ? 

6. State the addition theory of probability.  

 TmhÀ {PÌuPÂØPõÚ ÷uØÓzøu Áøμ¯Ö. 

7. Write the regression equation of X  on Y  and Y  on X .  

 Y «x X  ©ØÖ® X  «x Y ØPõÚ öuõhº÷£õUS ÷PõkPøÍ 

GÊxP. 

Sub. Code 
10242/12542/
12342/12842
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8. Define time series.  

 Põ»zöuõhøÓ & ÁøÓ¯Ö. 

9. What is Rank correlation?  

 Á›ø\ JmkÓÄ GßÓõÀ GßÚ? 

10. What is seasonal variation?  

 £¸ÁPõ» ÷ÁÖ£õk GßÓõÀ GßÚ? 

 SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. Choosing either (a) or (b). 

11. (a) Write the application of Chi-square distribution.  

  øP ÁºUP £μÁ¼ß £¯ß£õkPøÍ GÊxP. 

Or 

 (b) Compute Rank correlation co-efficient for the 
following data of the marks obtained by 8 students 
in commerce and mathematics.  

Marks in Commerce 15 20 28 12 40 60 20 80

Marks in Mathematics 40 30 50 30 20 10 30 60

  ¤ßÁ¸® uμÄPÒ 8 ©õnÁºPÒ ÁoPÂ¯À ©ØÖ® 

PouÂ¯À £õhzvÀ ö£ØÓ ©v¨ö£sPøÍU 

SÔUQÓx. CÁØÔß uμ JmkÓÄUöPÊøÁz PnUQkP. 

ÁoPÂ¯À 

©v¨ö£sPÒ 

15 20 28 12 40 60 20 80

PouÂ¯À 

©v¨ö£sPÒ 

40 30 50 30 20 10 30 60

12. (a) Find the trend value by Semi-Average method for 
the following data.  

Year 1995 1996 1997 1998 1999 2000 2001 2002
Production 
|in  
tonnes 

7.4 10.8 9.2 10.5 15.5 13.7 16.7 15 
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  Aøμ \μõ\› •øÓø¯¨ £¯ß£kzv ¤ßÁ¸® 

ÂÁμ[PÐUS ÷£õUS ©v¨¦PÒ PõsP. 

Bsk 1995 1996 1997 1998 1999 2000 2001 2002

EØ£zv 

hßÛÀ 

7.4 10.8 9.2 10.5 15.5 13.7 16.7 15 

Or 

 (b) Calculate Mean Deviation from the following data 

X 10 11 12 13 14

Y 3 12 18 12 3 

  öPõkUP¨£mh ¦ÒÎ ÂÁμ[PÎ¼¸¢x \μõ\› Â»UP® 

PoUPÄ®. 

X 10 11 12 13 14

Y 3 12 18 12 3 

13. (a) Calculate Mean, Median and Mode 

Marks 0-5 5-10 10-15 15-20 20-25 25-30

No. of students 5 7 10 8 6 4 

  \μõ\›, Cøh{ø» ©ØÖ® •Pk PoUPÄ®. 

©v¨ö£s 0-5 5-10 10-15 15-20 20-25 25-30

©õnÁºPÎß 

GsoUøP 

5 7 10 8 6 4 

Or 
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 (b) Calculate Fisher’s ideal index method for the 
following data.  

Commodity 2000 2001 

 Price Quantity Price Quantity

A 2 7 3 5 

B 5 11 6 10 

C 3 14 5 11 

D 4 16 4 18 

  RÌPsh uμÄPÐUS ¤å›ß ÂÊª¯ SÔ±mk 

Gsøn PnUQkP. 

ö£õ¸mPÒ 2000 2001 

 Âø» AÍÄ Âø» AÍÄ

A 2 7 3 5 

B 5 11 6 10 

C 3 14 5 11 

D 4 16 4 18 

14. (a) Mention the methods used to find seasonal indices.  

  £¸ÁPõ» SÔ±kPÒ Põn¨ £¯ß£kzu¨£k® 

•øÓPøÍ SÔ¨¤kP. 

Or 

 (b) Fit a Poisson distribution to the following data.  

X 0 1 2 3 4

Y 123 54 14 3 1
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  RÌPsh ÂÁμzvØS £õ´\õß £μÁø» ö£õ¸zxP. 

X 0 1 2 3 4

Y 123 54 14 3 1

15. (a) What are the characteristics of normal distribution?  

  C¯À{ø»¨ £μÁ¼ß £s¦PÒ ¯õøÁ? 

Or 

 (b) Calculate Quartile Deviation 

Value 20 45 70 95 120 145

Frequency 10 16 32 18 16 8 

  PõÀ©õÚ Â»UPzøu PõsP. 

©v¨¦ 20 45 70 95 120 145

Aø»öÁs 10 16 32 18 16 8 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

Each question carries 10 marks 

16. Write the ANOVA table for two-way classification. 

 C¸ÁÈ ©õÖ£õmk¨ £S¨£õ´Âß Pmhø©¨ø£ ÂÍUSP. 

17. State and prove Baye’s theorem.  

 ÷£°ß ÷uØÓzøu GÊv ÂÍUSP. 

18. Fit a straight line trend by the method of least square for 
the following consumer price index numbers of the 
industrial workers.  

Year 2010 2011 2012 2013 2014

Index number 166 177 198 221 225 
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 RÌPõq® öuõÈÀ xøÓ öuõÈ»õÍºPÎß ~Pº÷Áõº Âø» 

SÔ±mk GsPÐUS «a]Ö ÁºUP •øÓ°À ÷£õUS ÷Põk 

ö£õ¸zxP. 

Á¸h® 2010 2011 2012 2013 2014

SÔ±mk Gs 166 177 198 221 225 

19. Find the two regression lines.  
X 85 60 73 40 90

Y 93 75 65 50 80

 C¸ Ehß öuõhº¦ ÷PõkPøÍU PõsP. 

X 85 60 73 40 90

Y 93 75 65 50 80

20. Compute Laspere’s and Paasche’s  index numbers for the 
following data.  

Commodity  1980 1990 
 Price Quantity Price Quantity

A 5 2 10 3 
B 4 5 6 6 
C 6 4 10 5 
D 3 4 4 6 

 RÌPõq® ÂÁμ[PÐUS »õì¤¯º ©ØÖ® £õì÷\ 

BQ÷¯õμx SÔ±mk GsPøÍU PõsP. 

ö£õ¸mPÒ 1980 1990 

 Âø» AÍÄ Âø» AÍÄ

A 5 2 10 3 

B 4 5 6 6 

C 6 4 10 5 

D 3 4 4 6 

––––––––––––––– 



  

D-7280     

DISTANCE EDUCATION 

B.Com./B.Com. (LE) DEGREE EXAMINATION,  
DECEMBER 2022. 

Fourth Semester 

OFFICE MANAGEMENT  

(CBCS 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. What is called office communication? 

 A¾Á»P öuõhº¦ GßÓõÀ GßÚ?  

2. State the need for office layout. 

 A¾Á»P uÍÁø©¨¤ß AÁ]¯zøu öu›ÂUPÄ®.  

3. What are the types of forms? 

 ÁiÁ[PÎß ÁøPPÒ ¯õøÁ? 

4. What is Electronic data processing? 

 ªßÚq uμÄ ö\¯»õUP® GßÓõÀ GßÚ? 

5. Who is a functional manager? 

 ö\¯À£õmk ÷©»õÍº ¯õº? 

6. What is office management? 

 A¾Á»P ÷©»õsø© GßÓõÀ GßÚ? 

Sub. Code 
10243/12543 
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7. State the factors in choosing building. 

 Pmihzøuz ÷uº¢öuk¨£uØPõÚ PõμoPøÍU TÖP. 

8. State the various methods of data collection. 

 uμÄ ÷\P›¨¤ß £À÷ÁÖ •øÓPøÍU TÖP. 

9. What is communication loop? 

 öuõhº¦ ÁøÍ¯® GßÓõÀ GßÚ? 

10. What are the types of layout?  

 uÍÁø©¨¦ ÁøPPÒ ¯õøÁ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write the nature of office management. 

  A¾Á»P {ºÁõPzvß ußø©ø¯ GÊxP. 

Or 

 (b) State the essential qualities of an efficient office 
manager. 

  vÓø©¯õÚ A¾Á»P ÷©»õÍ›ß Azv¯õÁ]¯ 

Sn[PøÍU TÖP. 

12. (a) What are the factors to be considered while lighting 
an office? 

  A¾Á»Pzøu JÎμa ö\´²®÷£õx PÁÛUP ÷Ási¯  

PõμoPÒ ¯õøÁ? 

Or 

 (b)  Write the short notes on Office layout. 

  A¾Á»P Aø©¨¤À ]Ö SÔ¨¦ GÊxP. 
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13. (a) State the factors to be taken case in office 
organization. 

  A¾Á»P Aø©¨¤À GkUP¨£h ÷Ási¯ 

PõμoPøÍU TÖP. 

Or 

 (b) Write short notes on office working environment 
and furniture. 

  A¾Á»P ÷Áø» `ÇÀ ©ØÖ® uÍ£õh[PÒ SÔzx 

]ÖSÔ¨¦ GÊxP. 

14. (a) Explain sources of data. 

  uμÄPÎß Buõμ[PøÍ ÂÍUSP.  

Or 

 (b) Write short notes on sorting of mail. 

  Ag\ø» Á›ø\¨£kzxÁx SÔzx ]ÖSÔ¨¦ GÊxP. 

15. (a) Write the importance of office management. 

  A¾Á»P {ºÁõPzvß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) Explain the role of office management. 

  A¾Á»P {ºÁõPzvß £[øP ÂÍUSP.  

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Elaborate Computer Based System in office. 

 A¾Á»PzvÀ Â›ÁõÚ PoÛ Ai¨£øh°»õÚ Aø©¨¦.   

17. Write in detail about maintenance of records. 

 £vÄPÎß £μõ©›¨¦ £ØÔ Â›ÁõP GÊxP. 
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18. Explain the office correspondence. 

 A¾Á»P Piuzøu ÂÍUSP.  

19. Write the benefits of technological advancement to 
business communication. 

 öuõÈÀ~m£ •ß÷ÚØÓzvß |ßø©PøÍ ÁoP öuõhº¦US 

GÊxP. 

20. Write in detail about office automation. 

 A¾Á»P Bm÷hõ÷©åß £ØÔ Â›ÁõP GÊxP. 

 

——————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com. (LE)/B.Com. (CA)/ 
B.Com. (CA)(LE) DEGREE EXAMINATION,  

DECEMBER 2022. 

Fourth Semester 

MANAGEMENT ACCOUNTING 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State the meaning of management accounting. 

 ÷©»õsø© PnUQ¯¼ß ö£õ¸Ò TÖP. 

2. What is comparative statement? 

 J¨¥mk AÔUøP GßÓõÀ GßÚ? 

3. Define marginal costing. 

 CÖv {ø» AhUPÂø»°¯À & Áøμ¯Ö. 

4. Define budget. 

 ÁμÄ&ö\»Ä vmh® Áøμ¯øÓ ö\´P. 

5. List out the tools of financial analysis. 

 {v\õº B´Âß ö£õ¸Ò ÂÍUP •øÓPøÍ £mi¯¼kP. 

6. Give the meaning of ratio. 

 ÂQu® Gß£uß ö£õ¸Ò u¸P. 

Sub. Code 
10244/12544/
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7. What is meant by return on investment? 

 •u½mk v¸¨£® GßÓõÀ GßÚ? 

8. What is working capital? 

|øh•øÓ ‰»uÚ® Gß£x GßÚ? 

9. Give the meaning of flexible budget. 

ö|QÌÄ vmh¨£mi¯¼ß ö£õ¸øÍz u¸P. 

10. What are variable costs? 

 ©õÖ® ö\»ÄPÒ Gß£Ú ¯õøÁ? 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Calculate break even point. 
 Rs. 

Sales 6,00,000 

Fixed expenses 1,50,000 

Direct material 2,00,000 

Direct labour 1,20,000 

Other variable expenses 80,000 

  C»õ£ |mh ©ØÓ ¦ÒÎø¯U PõsP 

 ¹. 

ÂØ£øÚ 6,00,000 

{ø» ö\»ÄPÒ 1,50,000 

÷|μi ‰»¨ö£õ¸Ò 2,00,000 

÷|μi EøÇ¨¦ 1,20,000 

©ØÓ ©õÖ® ö\»ÄPÒ 80,000 

Or 



D–7281 
  3

 (b) What are the differences between fund flow 
statement and cash flow statement? 

  {v Jmh AÔUøPUS® öμõUP |h©õmh AÔUøPUS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) The expenses budgeted for an annual production of 
10,000 units in a factory are furnished below: 

  Material Rs. 140 per unit 
  Labour Rs. 25 per unit. 
  Variable work expenses Rs. 20 per unit  
  Fixed work overhead Rs. 1,00,000 for the year. 

Selling  and office expenses Rs. 25 per unit (20% 
fixed) 

  Prepare an expenses budget for production of 6000 
units. 

  J¸ öuõÈØ\õø»°À 10,000 A»SPÒ J¸ BsiØS 

EØ£zvUS›¯ ö\»ÄPÒ vmhªh¨£mhuØS›¯ 

uPÁÀPÒ R÷Ç öPõkUP¨£mkÒÍÚ. 
  Pa\õ¨ ö£õ¸ÒPÒ ¹.140 J¸ A»QØS 
  EøÇ¨¦  ¹. 25 J¸ A»QØS 
  ©õÖ£k® Bø» ö\»ÄPÒ ¹. 20 J¸ A»QØS {ø» 

Bø» ö\»ÄPÒ ¹. 1,00,000 J¸ BsiØS. ÂØ£øÚ 

©ØÖ® A¾Á»P ö\»ÄPÒ ¹.25 J¸ A»QØS (20% 

{ø»¯õÚx). 6000 A»SPÒ EØ£zvØPõÚ ÁμÄ ö\»Ä 

vmh® JßÖ u¯õ›UPÄ®. 

Or 
 (b) Sales Rs. 1,00,000 Profit Rs. 10,000 Variable cost 

70% 
  Find out : 
  (i) P/V ratio 
  (ii) Fixed cost 
  (iii) Sales to earn a profit of Rs. 40,000. 
  ÂØ£øÚ ¹.1,00,000 C»õ£® ¹. 10,000 ©õÖ£k® 

AhUP® 70% PõsP: 

  (i) C»õ£ AÍÄ ÂQu® 
  (ii) {ø» AhUP® 
  (iii) ¹. 40,000 C»õ£® DmkÁuØS ÷uøÁ¯õÚ 

ÂØ£øÚ. 
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13. (a) What are the advantages of ratio analysis? 

  ÂQu B´Âß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Calculate funds from operations from the following 
profit and loss A/c. 

 Rs.  Rs. 

To expenses 
paid 

3,00,000 By gross profit 4,50,000

To depreciation 70,000 By gain on sale of 
land 

60,000

To loss on sale 
of machine 

4,000  

To discount 200  

To goodwill 20,000  

To Net profit 1,15,800  

 5,10,000  5,10,000

 ¤ßÁ¸® C»õ£ |mh PnUQ¼¸¢x ö\¯À£õkPÎß {vø¯ 

PnUQkP.  

 ¹.  ¹. 

ö\»ÂÚ[PÒ 

ö\¾zv¯x 

3,00,000 ö©õzu C»õ£® 4,50,000

÷u´©õÚ® 70,000 {»® ÂØ£øÚ°À 

»õ£® 

60,000

C¯¢vμ 

ÂØ£øÚ°À 

|mh® 

4,000  

uÒÐ£i 200  

|Øö£¯º 20,000  

{Pμ »õ£® 1,15,800  

 5,10,000  5,10,000
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14. (a) What are the factors influencing dividend policy? 

  £[Põuõ¯U öPõÒøPø¯ £õvUS® PõμoPÒ ¯õøÁ? 

Or 

 (b) You are given the following information. 

      Rs. 

  Cash    18,000 

  Debtors   1,42,000 

  Closing stock  1,80,000 

  Bills payable  27,000 

  Creditors   50,000 

  Outstanding expenses 15,000 

  Taxes payable  75,000 

  Calculate : 

  (i) Current ratio 

  (ii) Liquid ratio 

  (iii) Absolute liquid ratio. 

  E[PÐUS uPÁÀPÒ ¤ßÁ¸©õÖ uμ¨£mkÒÍÚ. 

       ¹. 

  öμõUP®   18,000 
  PhÚõÍºPÒ  1,42,000 
  CÖva \μUQ¸¨¦  1,80,000 
  ö\/E Esi¯À  27,000 
  PhÛ¢÷uõº   50,000 

  öPõkUP ÷Ási¯ ö\»ÂÚ[PÒ15,000 

  ö\¾zu ÷Ási¯ Á›PÒ 75,000 

  PnUQkP: 

  (i) |h¨¦ ÂQu® 

  (ii) {º© ÂQu® 

  (iii) •Ê }º© ÂQu® 
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15. (a) Compute trend percentage and comment. 

Year Sales Cost of good sold

2000 600 360 

2001 680 414 

2002 840 512 

2003 960 574 

2004 1040 600 

2005 1200 666 

  ÷£õUS Â£μzøu PnUQmk Aøu¨£ØÔ Eß 

P¸zvøÚ TÖ. 

Á¸h® ÂØ£øÚ ÂØ£øÚ ö\´¯¨£mh 

 ö£õ¸mPÎß AhUP Âø»

2000 600 360 

2001 680 414 

2002 840 512 

2003 960 574 

2004 1040 600 

2005 1200 666 

Or 

 (b) From the following balance sheet of Ravi & Co., 
prepare a schedule of changing working capital. 

Liabilities 2007  2008  Assets 2007 2008 

 Rs.  Rs.   Rs. Rs. 

Share capital 4,00,000  5,75,000  Plant 75,000 1,00,000

Creditor 1,06,000  70,000  Stock 1,21,000 1,36,000

P and L A/c 14,000  31,000  Debtors 1,81,000 1,70,000

     Cash 1,43,000 2,70,000

 5,20,000  6,76,000   5,20,000 6,76,000
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 μÂ & ÷Põ Cß C¸¨¦{ø»U SÔ¨¦ ÁÇ[P¨£mkÒÍx. 

|øh•øÓ •u¼À HØ£k® ©õØÓ[PøÍ HØ£kzx® 

£mi¯ø»z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2007  2008  ö\õzxUPÒ 2007 2008 

 ¹.  ¹.   ¹. ¹. 

£,öuõøP 4,00,000  5,75,000  uÍÁõh[PÒ 75,000 1,00,000

PhÜ¢÷uõº 1,06,000  70,000  C¸¨¦ 1,21,000 1,36,000

C»õ£ |èh 

P/S 

14,000  31,000  PhÚõÎPÒ 1,81,000 1,70,000

     öμõUP® 1,43,000 2,70,000

 5,20,000  6,76,000   5,20,000 6,76,000

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of capital budgeting 
techniques. 

  ‰»uÚ ÁμÄ ö\»Ä vmh ~qUP[PÎß £À÷ÁÖ ÁøPPøÍ 

ÂÍUSP. 

17. The balance sheet of Mr. X on 1.1.07 and 31.12.07 were a 
follows: 

Liabilities 1.1.07 31.12.07  Assets 1.1.07 31.12.07

 Rs. Rs.   Rs. Rs. 

Creditors 40,000 44,000  Cash 10,000 7,000

Mrs. X loan 25,000 ––  Debtors 30,000 50,000

Loan from Bank 40,000 50,000  Stock 35,000 25,000

Capital 1,25,000 1,53,000  Machinery 80,000 55,000

    Land 40,000 50,000

    Buildings 35,000 60,000

 2,30,000 2,47,000   2,30,000 2,47,000

 During the year a machine costing Rs. 10,000 (accrued 
depreciation Rs. 3,000) was sold for Rs.5,000.  
The provision for depreciation against machinery as on 
1.1.07 was Rs. 25,000 on 31.12.07 Rs. 40,000. Net profit 
for the year 2007 amounted to Rs. 45,000. You are 
required to prepare cash flow statement. 
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 1.1.07 ©ØÖ® 31.12.07 v¸ X Gß£Á›ß C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ EÒÍx. 

ö£õÖ¨¦PÒ 1.1.07 31.12.07  ö\õzxUPÒ 1.1.07 31.12.07

 Rs. Rs.   Rs. Rs. 

PhÜ¢÷uõºPÒ 40,000 44,000  öμõUP® 10,000 7,000

v¸©v X Phß 25,000 ––  PhÚõÎPÒ 30,000 50,000

Á[Q°¼¸¢x Phß 40,000 50,000  \μUQ¸¨¦ 35,000 25,000

•uÀ 1,25,000 1,53,000  C¯¢vμ® 80,000 55,000

   {»® 40,000 50,000

   Pmih® 35,000 60,000

 2,30,000 2,47,000   2,30,000 2,47,000

 |h¨¦ BsiÀ J¸ C¯¢vμzvß AhUPÂø» ¹.10,000 

(÷\º¢u ÷u´©õÚ® ¹.3,000) ¹.5,000&US ÂØP¨£mhx. 

C¯¢vμzvß «x ÷u´©õÚ JxUS 1.1.07 AßÖ ¹.25,000 

©ØÖ® 31.12.2007 AßÖ ¹.40,000. 2007&® BsiØPõÚ {Pμ 

C»õ£® ¹.45,000 öμõUP |h©õmh AÔUøPø¯ }Âº 

u¯õ›UPÄ®. 

18. Prepare comparative balance sheet for the following data. 

Liabilities 2005  2006  Assets 2005 2006

 Rs.  Rs.   Rs. Rs.

Bills payable 500  750  Cash 1,000 1,400

Sundry Creditors 1,500  2,000  Debtors 2,000 3,000

Tax payable 1,000  1,500  Stock 2,000 3,000

Debenture (60%) 1,000  1,500  Furniture 1,000 1,400

Preference capital (10%) 3,000  3,000  Plant 3,000 2,700

Equity capital 4,000  4,000  Building 3,000 2,700

Reserves 2,000  2,450  Land 1,000 1,000

 13,000  15,200   13,000 15,200
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 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÐUS J¨¥mk {v{ø» 

AÔUøP u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2005  2006  ö\õzxUPÒ 2005 2006

 ¹.  ¹.   ¹. ¹.

ö\¾zxuØS›¯ 

©õØÖa^mk 

500  750  öμõUP® 1,000 1,400

£Ø£» PhÜ¢÷uõº 1,500  2,000  PhÚõÎPÒ 2,000 3,000

Á› Pmh÷Ási¯x 1,000  1,500  \μUQ¸¨¦ 2,000 3,000

 PhÜmk £zvμ[PÒ 

(60%) 

1,000  1,500  AøÓP»ß 1,000 1,400

•ßÝ›ø© £[S 

‰»uÚ® (10%) 

3,000  3,000  uÍÁõh[PÒ 3,000 2,700

£[S ‰»uÚ® 4,000  4,000  Pmih® 3,000 2,700

Põ¨¦{v 2,000  2,450  {»® 1,000 1,000

 13,000  15,200   13,000 15,200

19. Using the following information. Calculate labour 
variance. 

 (a)  Gross direct wages Rs. 3,000 

 (b)  Standard hours produced Rs. 1,600 

 (c)  Standard rate per hour Rs. 1.50 

 (d)  Actual hour paid 1,500 hours, out of which hours 
not worked (abnormal idle time) are 50. 

 RÌÁ¸® Â£μ[PøÍU öPõsk öuõÈ»õÍº ©õÖ£õk u¯õº 

ö\´P. 

 (A) ö©õzu ÷|μi Fv¯® ¹.3,000 

 (B) {ø»¯õÚ ©o ÷|μ® EØ£zv ö\´¯¨£mhx ¹.1,600 

 (C) ©o ÷|μzvØS {ø»¯õÚ ÂQu® ¹.1.50. 

 (D)  Esø©¯õÚ ©o ÷|μ Fv¯® ¹.1,500 ©o, AvÀ 

A\õuõμn ö\¯»ØÓ ÷|μ® 50. 
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20. Prepare a flexible budget for production at 75% and 100% 
capacity on the basis of the following data for a 50% 
activity. 

 Per unit 
Rs. 

Material 100 

Labours 50 

Variable expenses (direct) 10 

Administrative expenses  
(50% fixed) 40,000 

Selling and distribution  
expenses (60% fixed) 50,000 

Present production  
(50% activity) 1,000 

 50% |hÁiUøP öPõsh ¤ßÁ¸® uPÁÀPøÍU öPõsk 

75% ©ØÖ® 100% EØ£zvØPõÚ J¸ ö|QÌÄ 

vmh¨£mi¯ø» u¯õº ö\´P. 

 J¸ A»S 

¹. 

‰»¨ö£õ¸mPÒ 100 

öuõÈ»õÎPÒ 50 

©õÖ® ö\»ÂÚ[PÒ (÷|›øh¯õP) 10 

{ºÁõP ö\»ÂÚ[PÒ (50% 

{μ¢uμ©õÚx) 

40,000 

ÂØ£øÚ ©ØÖ® Â{÷¯õPa 

ö\»ÂÚ[PÒ (60% {μ¢uμ©õÚx)  

50,000 

uØ÷£õøu¯ EØ£zv (50% 

|hÁiUøP) 

1,000 
A»SPÒ 

———————— 

unit
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DISTANCE EDUCATION 

B.Com./B.Com. (Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2022. 

Fifth Semester 

INTERNATIONAL MARKETING 

(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer ALL questions. 

1. What is IMF? 

 IMF GßÓõÀ GßÚ? 

2. What is International business? 

 £ßÚõmk Áõo£® GßÓõÀ GßÚ? 

3. Define special economic zones. 

 ]Ó¨¦ ö£õ¸Íõuõμ ©sh»® Áøμ¯Ö. 

4. What is forward market? 

 •ß÷Úõi \¢øu GßÓõÀ GßÚ? 

5. What is counter trade? 

 Gvº ÁºzuP® GßÓõÀ GßÚ? 

6. What is product mix? 

 ö£õ¸mP»øÁ GßÓõÀ GßÚ? 

Sub. Code 
10251/12551 
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7. What is economic environment? 

 ö£õ¸Íõuõμ `ÇÀ GßÓõÀ GßÚ? 

8. Define balance of payment.  

 ö\¾zuÀ \©{ø» Áøμ¯Ö. 

9. What is mean by planning? 

 vmhªkuÀ Gß£x ¯õx? 

10. What is direct investment? 

 ÷|μi •u½k GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Why is international trade needed? 

  £ßÚõmk ÁºzuP® Hß ÷uøÁ¨£kQÓx? 

Or 

 (b)  Explain the types of letter of credit. 

  Phß Piuzvß ÁøPPøÍ ÂÍUSP.  

12. (a) Distinguish between balance of trade and balance of 
payments. 

  Áõo£ \©{ø» ©ØÖ® ö\¾zx \©{ø» ÷ÁÖ£kzxP. 

Or 

 (b)  Explain the various documents used in foreign 
trade. 

  öÁÎ|õmk ÁºzuPzvÀ £¯ß£kzu¨£k® £À÷ÁÖ 

BÁn[PøÍ ÂÍUSP.  
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13. (a) Briefly explain the function of IMF. 

  £ßÚõmk {v¯Pzvß ö\¯À£õkPøÍ _¸UP©õP 

ÂÍUSP.  

Or 

 (b) Why there is a discrimination between export 
pricing and domestic pricing? 

  HØÖ©v Âø» ©ØÖ® EÒ|õmk Âø» {ºn¯® 

BQ¯ÁØÖUS Cøh÷¯ Hß £õS£õk EÒÍx? 

14. (a) State the functioning of special economic zones 
(SEZ’s). 

  ]Ó¨¦ ö£õ¸Íõuõμ ©sh»[PÎß ö\¯À£õmøhU 

TÖP. 

Or 

 (b)  Give an account of the activities of Exim bank. 

  HØÖ©v CÓUS©v Á[Q°ß ö\¯À£õkPÒ SÔzx 

SÔ¨¦ GÊxP. 

15. (a) Bring out the achievements of UNCTAD. 

  UNCTAD--–ß \õuøÚPøÍ öÁÎöPõnºP. 

Or 

 (b) Bring out the challenges in global marketing. 

  E»PÍõÂ¯ \¢øu¨£kzxu¼À EÒÍ \ÁõÀPøÍ 

öÁÎöPõnºP. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions 

16. Discuss the scope of international marketing research. 

 £ßÚõmk \¢øu¨£kzxuÀ Bμõ´a]°ß ÷|õUP® £ØÔ 

ÂÁõv. 
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17. Describe the international market entry strategies. 

 \ºÁ÷u\ \¢øu ~øÇÄ EzvPøÍ ÂÁ›. 

18. Explain about importance of WTO in international 
business. 

 £ßÚõmk ÁoPzvÀ E»P ÁºzuP Aø©¨¤ß •UQ¯zxÁ® 

£ØÔ ÂÍUSP.  

19. Describe the legal concept relating to international 
business.  

 £ßÚõmk ÁoP® öuõhº£õÚ \mhU P¸zøu ÂÁ›. 

20. Explain the international social and cultural 
environment. 

 £ßÚõmk \‰P ©ØÖ® P»õa\õμ `Çø» ÂÍUSP.  

 

—————— 
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RETAIL MARKETING MANAGEMENT 
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PART A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define Property. 

 ö\õzx –  Áøμ¯Ö. 

2. List out the types of Real Property. 

 Esí©¤êÏ ë\êzx ¶íPPíÂ –mi¤±kP. 

3. What is Property Analysis? 

 ö\õzx £S¨£õ´Ä GßÓõÀ GßÚ? 

4. Define Corporate Property. 

 {ÖÁÚ ö\õzxPøÍ Áøμ¯Ö. 

5. What do you mean Catchment Survey?  

 —iœ™ PnUëPkœ™ –ÍÉ }·¯ AÉ¶ëuÔÏ? 

Sub. Code 

10252/12552/ 
12352/12852 
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6. Define Property Life Cycle (PLC). 

 ë\êzx ¶êÁUíP _¼Í] ‹ ¶íª¤Ë. 

7. List out the market classifications under Retail Property. 

 ]μ°íª ë\êzx Aiœ–íh¥μ \•íuPÃÔ ¶íPPíÂ 
–mi¤±kP. 

8. List out the major rental income items of Retail Property. 

 ]μ°íª ë\êzv±−•x QíhUS£ ¶êhíP ¶−¶êí¤ 
–mi¤±kP. 

9. Mention the various methods of property valuation. 

 ö\õzx ©v¨¥miß £À÷ÁÖ •øÓPøÍ SÔ¨¤kP. 

10. List out the various types of property maintenance. 

 ö\õzxPøÍ {ºÁQUS® £À÷ÁÖ •øÓPøÍ / ÁøPPøÍ 

–mi¤±kP. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write the duties of a Property Manager. 

   ö\õzx ÷©»õÍ›ß Phø©PøÍ GÊxP. 

Or 

 (b) State the various classifications of a property. 

  ö\õzxPÎß £À÷ÁÖ ÁøPPøÍ TÖP. 

12. (a) ‘Property as a part of Competitive Strategy’ – 
Explain. 

  ‘ö\õzx Gß£x ÷£õmi ‰÷»õE£õ¯zvß J¸ £Sv’  
ÂÍUSP.   

Or 
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 (b) Briefly explain the various economics associated 
with property management. 

  ö\õzx ÷©»õsø©°À öuõhº¦ÒÍ £À÷ÁÖ 

ö£õ¸Î¯À TØÖPøÍ _¸UP©õP ÂÁ›. 

13. (a) Describe the legal requirements of property 
management. 

   ö\õzx ÷©»õsø©°ß \mh ÷uøÁPøÍ TÖP. 

Or 

 (b) State the property life cycle for commercial aspects. 

  ÁoP Ÿv¯õÚ ö\õzx ÁõÌUøP _ÇØ]°øÚ TÖP. 

14. (a) Write a short note on ‘Floor Space Index’ (FSI). 

  uøμ öÁÎ / SÔ±möhs £ØÔ SÔ¨¦ GÊxP.  

Or 

 (b) Brief out merchandising classification of Retail 
Property. 

  ÁoP Ÿv¯õP ]À»øμ ö\õzvß ÁøP¨£õmkPøÍ  

_¸UP©õP ÂÍUSP.  

15. (a) Briefly explain the cost components of property 
valuation. 

   ö\õzx ©v¨¥miß AhUPÂø» EÒÏkPøÍ 

_¸UP©õP ÂÁ›. 

Or 

 (b) Bring out the importance of effective marketing of 
Retail Property. 

  ]À»øμ ö\õzvß ö\¯À ÂøÍÄøh¯ \¢øu°ku¼ß 

•UQ¯zxÁzøu öPõnºP. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Outline the growth of professionalism in Property 
Management. 

 ö\õzx ÷©»õsø©°ß öuõÈÀ•øÓ ÁÍºa]°ß •UQ¯ 

TÖPøÍ TÖP. 

17. Discuss the different sources of buying a property. 

 ö\õzxUPøÍ Áõ[SÁuØPõÚ £À÷ÁÖ ‰»[PøÍ¨ £ØÔ 

ÂÁ›. 

18. Outline the formulating strategy for property 
management and its effectiveness. 

 ö\õzx ÷©»õsø©°ß ‰÷»õE£õ¯ E¸ÁõUP® ©ØÖ® 

Auß ö\¯ÀvÓøÚ £ØÔ TÖP.  

19. Define Lease. Explain the steps to enter leasing of retail 
property. 

 SzuøP Áøμ¯Ö. ]À»øμ ö\õzx ÁºzuPzvß EÒ ~øÇ¯ 

SzuøP £i{ø»PøÍ ÂÍUSP.  

20. Explain the future challenges of Retail Property 
Management. 

 ]μ°íª ë\êzx ì©°êsí©¥Ô Gv¯Pê° \¶êμPíÂ 
ÂÍUSP.  

—————— 
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PART A — (10  2 = 20 marks) 

Answer ALL the questions. 

1. What is Cost? 

AhUPÂø» GßÓõÀ GßÚ? 

2. What is meant by stores ledger? 

Qh[S ÷£÷μk £ØÔ AÔÁx GßÚ?  

3. What is Merit Rating? 

uSv ©v¨¥k GßÓõÀ GßÚ? 

4. What is meant by Overhead? 

÷©Øö\»ÄPÒ £ØÔ AÔÁx GßÚ? 

5. List out any two features of Job Costing. 

£o AhUP Âø»°¯¼ß H÷uÝ® Cμsk A®\[PøÍ 

£mi¯¼kP. 

Sub. Code 
10253/12553/ 
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6. What is Joint product? 

xøn ö£õ¸Ò GßÓõÀ GßÚ? 

7. What is Contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

8. What is Operating Costing? 

C¯UP AhUPÂø»°¯À GßÓõÀ GßÚ? 

9. What is Standard Costing? 

{ø»¯õÚ AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. What is meant by Cost Control? 

 AhUPÂø» Pmk¨£õk £ØÔ AÔÁx GßÚ? 

PART B — (5  5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11. (a) What are the objects of cost accounting? 

  AhUPÂø» PnUQ¯¼ß ÷|õUP[PøÍ TÖP. 

Or 

 (b) Calculate: (i) Minimum stock level (ii) Maximum 
stock level (iii) Re-order level 

  (1) Minimum consumption 100 units per day 

  (2) Maximum consumption 150 units per day 

  (3) Normal consumption 120 units per day 

  (4) Re-order period 10-15 days 

  (5) Re-order quantity 1500 units 

  (6) Normal re-order period 12 days. 
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  Psk¤i : (i) SøÓ¢u \μUS ©mh® (ii) AvP£m\ \μUS 

©mh® (iii) ©Ö Bøn ©mh® 

  (1) SøÓ¢u£m\ ~PºÄ 100 A»SPÒ |õÒ JßÖUS 

  (2) AvP£m\ ~PºÄ 150 A»SPÒ |õÒ JßÖUS 

  (3) \μõ\› ~PºÄ 120 A»SPÒ |õÒ JßÖUS 

  (4) ©Ö Bøn Põ»® 10&15 |õmPÒ 

  (5) ©Ö Bøn AÍÄ 1500 A»SPÒ 

  (6) \μõ\› ©Ö Bøn Põ»® 12 |õmPÒ 

12. (a) From the following particulars, prepare a statement 
of labour cost showing the cost per day. 

  (i) Monthly salary — Rs. 225 

  (ii) Lease salary — 5%of (i) 

  (iii)  Employer’s contribution to P.F – 8½% of  
(i) and (ii) 

  (iv)  Employer’s contribution to ESI – 3% of  
(i) and (ii) 

  (v) Pro-rata expenditure on amenities to labour – 
Rs. 28 (per head per month.) 

  (vi)  No. of working hours in a month of 25 days:  
8 hours per day. 

  ¤ßÁ¸® Â£μ[PÎ¼¸¢x |õm ö\»øÁU 

PõmhUTi¯ öuõÈ»õÍº ö\»Ä £ØÔ¯ £mi¯À u¯õº 

ö\´P. 

  (i) ©õu \®£Í® – ¹. 225 

  (ii) Âk¨¦a\®£Í® – ¹.5% (©õu \®£ÍzvÀ) 

  (iii)  ÷\©|»{vUS öuõÈÀ{ÖÁÚzuõ›ß £[S –  
(i) ©ØÖ® (ii) &À 8½%  

  (iv)  öuõÈ»õÍº Põ¨¥mk {ÖÁÚzvØS 

öuõÈØ{ÖÁÚzuõ›ß £[S (i) ©ØÖ® (ii) &À  3%   
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  (v) öuõÈ»õÍº |» ö\»ÂÀ £[S & ¹.28 (J¸ 

©õuzvØS J¸ öuõÈ»õÎUS) 

  (vi)  J¸ ©õuzvÀ 25 |õÒ ÷Áø» |õÒ & J¸ |õÐUS 8 

©o ÷|μ®. 

Or 

 (b) Apportion the following expenses to various 
departments. 

 Total (Rs.) A B C 

Rent and Rates 5,000    

General Lighting 2,000    

Floor Area (Sq. ft.)  1,000 500 500 

Lighting Point  3 2 5 

  ¤ßÁ¸® ö\»ÂÚ[PøÍ £À÷ÁÖ xøÓPÐUS 

£Qº¢uÎUP 

 ö©õzu® (¹.) A B C 

ÁõhøP ©ØÖ® 

Ãu[PÒ 

5,000    

ö£õxÁõÚ 

öÁÎa\® 

2,000    

uøμ°ß £μ¨¦ 

(\xμ Ai) 

 1,000 500 500 

ÂÍUSPÎß 

GsoUøP 

 3 2 5 

13. (a) Distinguish between job costing and process costing. 

  £o AhUP Âø»°¯ø»²® £i•øÓ AhUP 

Âø»°¯ø»²® ÷ÁÖ£kzxP. 

Or 
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 (b) Calculate the cost of each process and total cost of 
production from the data given below: 

 Process 
 1 (Rs.) 2 (Rs.) 3 (Rs.) 
Materials 2,250 750 300 
Wages 1,200 3,000 900 
Direct Expenses:    
Fuel 300 200 400 
Carriage 200 300 100 
Works overhead 1,890 2,580 1,875 

  The indirect expenses Rs. 1,275 should be 
apportioned on the basis of wages. 

  RÌPõq® Â£μ[PÎ¼¸¢x JÆöÁõ¸ £i•øÓPÎß 

AhUPÂø»²®, EØ£zv¨ ö£õ¸Îß ö©õzu 

AhUPÂø»²® {ºn¯® ö\´P. 

 £i•øÓ 

 1 (¹.) 2 (¹.) 3 (¹.) 

‰»¨ö£õ¸mPÒ 2,250 750 300 

T¼ 1,200 3,000 900 

÷|μia ö\»ÂÚ[PÒ    

G›ö£õ¸Ò 300 200 400 

yUSUT¼ 200 300 100 

Bø» ÷©Øö\»ÄPÒ 1,890 2,580 1,875 

  ©øÓ•P ÷©Øö\»ÄPÒ ¹.1,275 T¼°ß 

Ai¨£øh°À £Qº¢uÎUP¨£kQÓx. 

14. (a) How do you record the profit of contract account in 
the profit and loss account? 

  J¨£¢u PnUQÀ »õ£zøu GÆÁõÖ »õ£ |mhPnUQÀ 

£vÄ ö\´Áõ´?  

Or 
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 (b) Write short notes on Economic Batch Quantity. 

  ]UPÚ öuõSv AÍøÁ £ØÔ SÔ¨¦ ÁøμP. 

15. (a) From the following data calculate Labour Variance 
for the two departments. 

Particulars Departments 

 A (Rs.) B (Rs.) 

Actual wages 2,000 1,800 

Standard hours produced 8,000 6,000 

Standard rate per hour 30 paise 35 paise 

Actual hours worked 8,200 5,800 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸ xøÓPÐUPõÚ 

EøÇ¨¦ ©õÖ£õmøh PõsP. 

ÂÁμ[PÒ xøÓPÒ 

 A (¹.) B (¹.) 

Esø©¯õÚ T¼ 2,000 1,800 

vmh ÷|μzvØPõÚ EØ£zv 8,000 6,000 

J¸ ©oUPõÚ {ø»¯õÚ Ãu® 30 ø£\õ 35 ø£\õ 

Esø©¯õP EøÇzu ÷|μ[PÒ 8,200 5,800 

Or 

 (b) From the following information find out the profit 
as per financial books. 

  (i)  Profit as per costing books Rs. 45,030. 

  (ii)  Income tax provided in financial books  
Rs. 4,000 

  (iii)  Bank interest (Cr) in financial books Rs. 150. 
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  (iv) Depreciation charged in financial books  
Rs. 2,800 

  (v)  Depreciation recovered in cost books Rs. 3,000 

  (vi)  Works overheads over recovered Rs. 550 

  (vii) Administration overhead under recovered  
Rs. 450 

  (viii) Interest on investments not included in the 
cost books Rs. 1,200 

  (ix)  Stores adjustments credited in financial books 
Rs. 120. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x {v{ø» Hmiß £i 

C»õ£zøu PõsP. 

  (i)  AhUPÂø» Hmiß £i C»õ£® ¹. 45,030. 

  (ii)  {v{ø» Hmiß £i JxUP¨£mh Á¸©õÚÁ› 

¹.4,000   

  (iii)  {v{ø» HmiÀ ÁμÄ øÁUP¨£mh Á[Q Ámi 

¹. 150. 

  (iv) {v{ø» HmiÀ _©zu¨£mh ÷u´©õÚ®  

¹. 2,800 

  (v)  AhUPÂø» HmiÀ «mP¨£mh ÷u´©õÚ® 

¹.3,000 

  (vi)  AvP «mP¨£mh £o ÷©Øö\»ÄPÒ ¹. 550 

  (vii) SøÓÁõP «mP¨£mh {ºÁõP ÷©Øö\»ÄPÒ  

¹. 450 

  (viii) AhUPÂø» HmiÀ ÷\ºUP¨£hõu •u½kPÒ 

«uõÚ Ámi ¹.1200 

  (ix)  {v{ø» HmiÀ ÁμÄ øÁUP¨£mh Qh[S 

\›PmkuÀPÒ ¹. 120. 
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PART C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. From the following information prepare a cost sheet: 

 Rs.  Rs. 

Stock on 01.01.2018:  Sales 95,000 

Raw Materials 30,500 Direct Wages 20,400 

Finished Goods 20,400 Office Expenses 5,400 

Stock on 31.01.2018:  Selling Expenses 3,800 

Raw Materials 48,500 Distribution 
Expenses 

2,500 

Finished goods 10,000 Factory Expenses 10,500 

Work in Progress 
01.01.2018 

8,000 Purchase of Raw 
Materials 

25,000 

Work in Progress 
31.01.2018 

9,000   

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ AhUPÂø» £mi¯ø» 

u¯õ›UP. 

 ¹.  ¹. 

01.01.2018 AßøÓ¯ 

\μUQ¸¨¦ : 

 ÂØ£øÚ 95,000 

‰»¨ö£õ¸ÒPÒ 30,500 ÷|μi T¼ 20,400 

•iÄØÓ ö£õ¸ÒPÒ 20,400 A¾Á»P ö\»ÄPÒ 5,400 

31.01.2018 AßøÓ¯ 

\μUQ¸¨¦ : 

 ÂØ£øÚ ö\»ÄPÒ 3,800 

‰»¨ö£õ¸ÒPÒ 48,500 £Qº¢uÎ¨¦ 

ö\»ÄPÒ 

2,500 
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 ¹.  ¹. 

•iÄØÓ ö£õ¸ÒPÒ 10,000 Bø» ö\»ÄPÒ 10,500 

01.01.2018 AßøÓ¯ £Sv 

•iÄØÓ ö£õ¸ÒPÒ 

8,000 ‰»¨ö£õ¸ÒPÒ 

Áõ[Q¯x 

25,000 

31.01.2018 AßøÓ¯ £Sv 

•iÄØÓ ö£õ¸ÒPÒ 

9,000   

17. Calculate the normal and overtime wages payable to a 
workman from the following data: 

Days Monday Tuesday Wednesday Thursday Friday Saturday 

Hours worked 8 10 9 11 9 4 

 Normal working hours = 8 hours per day. Normal rate  
Re. 1.00 per hour upto 9 hours in a day at single rate and 
over 9 hours in a day at double the rate (or) upto 48 hours 
in a week at single rate and over 48 hours in a week at 
double rate whichever is more beneficial to the workmen. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¸ öuõÈ»õÎUS ö\¾zu 

÷Ási¯ \õuõμn ©ØÖ® ªøP ÷|μ T¼ø¯ PnUQkP. 

|õmPÒ v[PÒ ö\ÆÁõ´ ¦uß Â¯õÇß öÁÒÎ \Û

÷Áø» £õºzu 

÷|μ[PÒ 

8 10 9 11 9 4 

 C¯À£õÚ ÷Áø» ÷|μ[PÒ & |õÒ JßÖUS 8 ©oPÒ 

\õuõμn Ãu® & J¸ ©o ÷|μzvØS ¹.1.00. |õÒ JßÖUS  

9 ©o ÷|μ[PÒ Áøμ \õuõμn Ãu©õS®. 9 ©o ÷|μzvØS 

÷©À ÷Áø» £õºzuõÀ \õuõμn Ãu©õÚx C¸ ©h[PõS® 

AÀ»x Áõμ® JßÖUS 48 ©o ÷|μ® Áøμ ÷Áø» £õºzuõÀ 

\õuõμn Ãu©õS®. 48 ©o ÷|μzvØS ÷©À ÷Áø»  

£õºzuõÀ \õuõμn Ãu©õÚx C¸ ©h[PõS®. CÁØÔÀ  

GøÁ öuõÈ»õÍºPÐUS |ßø© £¯US÷©õ AÁØøÓ  

ÁÇ[P ÷Ásk®. 
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18. Product A requires three distinct processes and after the 
third process the product is transferred to finished stock. 
You are required to prepare various process accounts 
from the following information. 

 Total  Process 

 Rs. I II III 

Direct Material 5,000 4,000 600 400 

Direct Labour 4,000 1,500 1,600 900 

Direct Expenses 800 500 300 –– 

Production Overheads 12,000    

 Production overheads to be allocated to different process 
on the basis of direct wages. Production during the period 
was 100 units. 

 ö£õ¸Ò A BÚx ‰ßÖ £i{ø»PøÍ öPõskÒÍx. 

‰ßÓõÁx £i{ø» •i¢u ¤ß CÖv ö£õ¸ÍõP 

©õØÓ¨£kQÓx. ¤ßÁ¸® uPÁÀPÎ¼¸¢x £À÷ÁÖ 

£i•øÓ PnUSPøÍ u¯õ›UP. 

 ö©õzu® £i•øÓPÒ 

 ¹. I II III 

÷|μi ‰»¨ö£õ¸Ò 5,000 4,000 600 400 

÷|μi T¼ 4,000 1,500 1,600 900 

÷|μi ö\»ÂÚ[PÒ 800 500 300 –– 

EØ£zv ÷©Øö\»ÄPÒ 12,000    

 EØ£zv ÷©Øö\»ÄPÍõÚx ÷|μi T¼°ß Ai¨£øh°À 

JÆöÁõ¸ £i{ø»PÐUS® £Qº¢uÎUP¨£kQÓx. 

AUPõ»zvÀ EØ£zv ö\´¯¨£mh A»SPÒ 100 BS®. 
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19. East Coast Construction undertook a contract on  

1st January 2010. The cost price being Rs. 1,00,000. 

During the year work certified was valued at Rs. 50,000 

of which 75% was received. Work uncertified amounted to  

Rs. 10,000. The following expenses were incurred: 

Particulars Rs. Particulars Rs. 

Materials 30,000 Indirect expenses 5,000 

Labour 20,000 Wages accrued at the end 2,000 

Plant 10,000 Materials in hand 1,000 

Direct expenses 8,000 Plant in hand 1,500 

 Prepare the contract account as on 30th June 2010. 

 Dìm ÷Põìm Pmk©õÚ {ÖÁÚ©õÚx 1.1.2010 AßÖ J¸ 

J¨£¢uzøu Gkzux. Auß AhUP Âø» ¹.1,00,000. 

AÆÁõsiØPõÚ \õßÓÎUP¨£mh £o ¹.50,000 AvÀ 75% 

ö£Ó¨£mhx \õßÓÎUP¨£hõu £o ¹. 10,000. ¤ßÁ¸® 

ö\»ÂÚ[PÒ HØ£mhÚ. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹.

‰»¨ö£õ¸ÒPÒ 30,000 ©øÓ•P ö\»ÂÚ[PÒ 5,000 

T¼ 20,000 CÖv°À öPõkUP 

÷Ási¯ T¼ 

2,000 

ö£õÔ 10,000 ‰»¨ö£õ¸Îß øP°¸¨¦ 1,000 

÷|μia 

ö\»ÂÚ[PÒ 

8,000 ö£õÔ øP°¸¨¦ 1,500 
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20. From the following particulars compute material 
variances: 

Quantity of materials purchased 3,000 units 

Value of materials purchased Rs.9,000 

Standard quantity of materials required per 
tonne of output 

30 units 

Standard rate of material Rs. 2.50 per 
unit 

Opening Stock of raw material Nil 

Closing Stock of raw material 500 units 

Output during the period 80 tonnes 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ‰»¨ö£õ¸Ò ©õÖ£õmøh 

PnUQkP. 

Áõ[Q¯ ‰»¨ö£õ¸mPÎß AÍÄ 3,000 
A»SPÒ 

Áõ[Q¯ ‰»¨ö£õ¸mPÎß ©v¨¦ ¹. 9,000 

J¸ hß öÁÎ±møh EØ£zv ö\´ÁuØS 

÷uøÁ¨£k® {ø»¯õÚ ‰»¨ö£õ¸Ò AÍÄ 

30 A»SPÒ 

‰»¨ö£õ¸Îß {ø»¯õÚ Ãu® Rs. 2.50 Kº 
A»QØS 

‰»¨ö£õ¸Îß öuõhUP \μUQ¸¨¦ CÀø» 

‰»¨ö£õ¸Îß CÖv \μUQ¸¨¦ 500 A»SPÒ 

AUPõ»zvØPõÚ öÁÎ±k 80 hßPÒ 

 

 

———————— 
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Fifth Semester 

PROJECT MANAGEMENT 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 
Answer ALL questions. 

1. Define project management. 

 vmh ÷©»õsø© Áøμ¯ÖUP. 

2. What is called Project Life Cycle? 

 vmh ÁõÌUøP _ÇØ] GßÖ AøÇUP¨£kÁx Hß?  

3. What do you mean by project management philosophy? 

 vmh÷©»õsø© uzxÁzvß ö£õ¸Ò GßÚ? 

4. List of the role of project manager. 

 vmh ÷©»õÍ›ß £[S £mi¯À GÊxP. 

5. Write note on project planning. 

 vmh vmhªhÀ SÔzx SÔ¨¦ GÊxP. 

6. What is mean by organisation issues? 

 {ÖÁÚ[PÎß ]UPÀPÒ GßÓõÀ GßÚ? 

Sub. Code 
10254/12554/ 
12354/12854 
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7. Write a note on diversity management. 

 ÷©»õsø©°ß £ß•Pzußø© SÔzx SÔ¨¦ GÊxP. 

8. What is meant by risk identification? 

 Chº Aøh¯õÍ® PõnÀ GßÓõÀ GßÚ? 

9. Write a note on project control. 

 vmh Pmk¨£õk SÔ¨¦ GÊxP. 

10. What is meant by project management software? 

 vmh ÷©»õsø© ö©ßö£õ¸Ò GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the various steps in project life cycle? 

  vmh ÁõÌUøP _ÇØ]°À £À÷ÁÖ £iPÒ ¯õøÁ? 

Or 

 (b) Explain the impact of delay in project completion. 

  vmh® •iÁøhÁvÀ uõ©uzvß uõUPzøu ÂÍUSP.  

12. (a) What are the needs of project planning? 

  vmhz  vmhzvß ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Explain the process of project planning. 

  vmh vmhªhÀ ö\¯À•øÓø¯ ÂÍUSP.  

13. (a) Explain the role and responsibility of project leader. 

  vmhz uø»Á›ß £[S ©ØÖ® ö£õÖ¨ø£ ÂÍUSP.  

Or 
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 (b) Write a note on work breakdown structure and 
diversity management. 

  ÷Áø» •ÔÄ Aø©¨¦ ©ØÖ® £ß•Pzußø© 

÷©»õsø©  SÔzx SÔ¨¦ GÊxP. 

14. (a) What do you mean by network cost system? 
Explain. 

  Áø»¨¤ßÚ¼ß ö\»Ä Aø©¨¦ GßÓõÀ GßÚ? 

ÂÍUSP.  

Or 

 (b) Explain the concept of PERT model. 

  PERT ©õv›°ß P¸zøu ÂÍUS[PÒ.  

15. (a) What are the common features available in most of 
the project management software? 

  ö£¸®£õ»õÚ vmh ÷©»õsø© ö©ßö£õ¸ÐUS 

QøhUPUTi¯ ö£õxÁõÚ A®\[PÒ ¯õøÁ? 

Or 

 (b) Explain the purpose of project execution and 
control. 

  vmhzøu ö\¯À£kzuÀ ©ØÖ® Pmk¨£kzxu¼ß 

÷|õUPzøu ÂÍUSP.  

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the principles of project management. 

 vmh ÷©»õsø© öPõÒøPPøÍ ÂÍUSP.  

17. Discuss how to determine the CPM model. 

 CPM ©õv›ø¯ GÆÁõÖ wº©õÛ¨£x Gß£x £ØÔ 

ÂÁõvUPÄ®. 
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18. Explain the planning and design of PIMS. 

 PIMS vmhªhÀ ©ØÖ® ÁiÁø©zuÀ £ØÔ ÂÍUSP.  

19. Discuss the role of risk management in overall project 
management. 

 Jmkö©õzu vmh ÷©»õsø©°À Chº ÷©»õsø© £[S 

£ØÔ ÂÁõvUPÄ®. 

20. Explain the benefits and challenges of performance 
measurement and evaluation. 

 ö\¯ÀvÓß AÍÃmk ©ØÖ® ©v¨¥miß |ßø©PÒ ©ØÖ® 

\ÁõÀPøÍ ÂÍUSP.  

 

——————— 
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DECEMBER 2022. 

Sixth Semester 

MARKETING RESEARCH 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Write the meaning of Research. 

 Bμõ´a]°ß ö£õ¸øÍ GÊxP. 

2. What is a Research Design? 

 Bμõ´a] ÁiÁø©¨¦ GßÓõÀ GßÚ? 

3. Write the meaning of Data. 

 uPÁ¼ß ö£õ¸øÍ GÊxP. 

4. What do you mean by questionnaire building? 

 ÷PÒÂzuõÒ u¯õ›zuÀ GßÓõÀ GßÚ? 

5. Define Sampling. 

 ©õv›ø¯ Áøμ¯Ö. 

6. What is Hypothesis testing? 

 P¸x÷PõÒ ÷\õuøÚ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Bivariate analysis? 

 C¸ÁøP £S¨£õ´Ä GßÓõÀ GßÚ? 

8. Mention the structure of a Report. 

 AÔUøP°ß Pmhø©¨ø£ SÔ¨¤hÄ®. 

9. What is Data Mining? 

 ÷hmhõø©Û[ GßÓõÀ GßÚ? 

10. What is Online Marketing Research? 

 Bßø»ß ©õºUöPmi[ Bμõ´a] GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) What are the various types of research? 

  AÔUøP°À ÁøPPÒ GßöÚßÚ? 

Or 

 (b) State the characteristics of research. 

  Bμõ´a]°ß £s¦PøÍU SÔ¨¤kP. 

12. (a) Write the components of Research proposal. 

  Bμõ´a] •ßö©õÈÂß TÖPøÍ GÊxP. 

Or 

 (b) Explain the types of Research Design. 

  Bμõ´a] ÁiÁø©¨¤ß ÁøPPøÍ ÂÍUSP. 

13. (a) What is Causal Research Design? 

  \õuõμn Bμõ´a] ÁiÁø©¨¦ GßÓõÀ GßÚ? 

Or  
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 (b) Explain the drawbacks of Secondary data. 

  Cμshõ® {ø» uPÁ¼ß SøÓ£õkPøÍ ÂÍUSP. 

14. (a) Write short notes on questionnaire format. 

  “ÂÚõU÷PõøÁ ÁiÁ®” £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Explain the steps involved in Hypothesis testing. 

  P¸x÷PõÒ ÷\õuøÚ°À EÒÍ £i{ø»PøÍ 
ÂÍUSP. 

15. (a) Write short notes on Survey field work. 

  ‘PnUöPk¨¦ PÍ¨£o’ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) What are the responsibilities of Market research 
report writer? 

  \¢øu Bμõ´a] AÔUøP GÊzuõÍ›ß ö£õÖ¨¦PÒ 
¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What are the characteristics of a good sample design? 

 ]Ó¢u J¸ ©õv› ÁiÁø©¨¤ß C¯À¦PÒ ¯õøÁ? 

17. “Questionnaire and Interview as Data Gathering Tools” – 
Comment. 

 “uPÁÀ ÷\P›US® P¸ÂPÍõP ÂÚõU÷PõøÁ²® 

÷|ºPõn¾®” – P¸zx TÖP. 
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18. Explain the types of Non-sampling errors. 

 ©õv› Gkzu¾hß öuõhº£ØÓ ¤øÇPÎß ÁøPPøÍ 
ÂÍUSP. 

19. What are the matters to be considered while making an 
oral presentation of research findings? 

 Áõ´ö©õÈ¯õP B´Ä •iÄPøÍ AÎUS® ö£õÊx 
P¸zvÀ öPõÒÍ ÷Ási¯ Âå¯[PÒ ¯õøÁ? 

20. Comment on “Marketing research on 21st Century”. 

 “\¢øu°køP B´Ä 21B® ¡ØÓõsiÀ” – P¸zx TÖP. 

———————— 
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(CBCS 2018-19 Academic Year onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define holding company. 

 ¤i¨¦ {Ö©® GßÓõÀ GßÚ? 

2. Define shares. 

 £[SPÒ GßÓõÀ GßÚ? 

3. What is meant by internal reconstruction? 

 AP ©Ö^μø©¨¦ vmh® GßÓõÀ GßÚ? 

4. Mention the different types of shares. 

 £[SPÎß £À÷ÁÖ ÁøPPøÍU SÔ¨¤kP. 

5. What is super profit? 

 ªøP C»õ® GßÓõÀ GßÚ? 

Sub. Code 
10262/12562
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6. B. Ltd. issued 1,000, 12% debentures of Rs. 100 each at a 
discount of 10% and redeemable at a premium of 10%. 
Show the journal entry. 

 B. ¼ªöhm GßÖ {Ö©® ¹.100 •P ©v¨¦øh¯ 12% 
Phß£zvμ[PÒ 1000, 10% PÈÄhß öÁÎ°mhx. AøÁ 
v¸¨¦® ÷£õx 10% •øn©zxhß uμ¨£k® GÛÀ, 
ÂØÓuØPõÚ SÔ¨÷£mk¨ £vÄ u¸P. 

7. What is contingent liability? 

 I¯¨ ö£õÖ¨¦ GßÓõÀ GßÚ? 

8. State any two features of preference shares. 

•ßÝ›ø©¨ £[SPÎß C¯À¦PÎß H÷uÝ® 
CμsiøÚU TÖP. 

9. What do you mean by Absorption? 

DºzuÀ Gß£vß ö£õ¸Ò u¸P. 

10. Give journal entry for share forfeiture. 

 £[S JÖ¨¤Ç¨¤ØPõÚ SÔ¨÷£k u¸P. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Calculate goodwill on the basis of 3 years purchase 
of 5 years average profit. 

 Rs. 

2004 16,000 

2005 20,000 

2006 18,000 

2007 –8,000(loss) 

2008 12,000 
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  I¢x Bsk Põ» \μõ\›, C»õ£zvÀ 3 Bsk 
öPõÒ•u¼À |Øö£¯›ß ©v¨ø£U PnUQkP. 

 ¹. 

2004 16,000 

2005 20,000 

2006 18,000 

2007 –8,000 (|mh®) 

2008 12,000 

Or 

 (b) From the following data, calculate profit prior to 
incorporation. 
Time ratio 1 : 2 

Sales ratio 1 : 3 

Gross profit Rs. 1,70,500 

Administrative expenses Rs. 69,600 

Expenses relating to sales Rs. 18,600 

Preliminary expenses Rs. 11,560 

  RÌUPõq® ÂÁμ[PÎ¼¸¢x Tmk¸ÁõUQØS •ß 
EÒÍ C»õ£zøu PnUQkP. 

÷|μ ÂQu® 1 : 2 
ÂØ£øÚ ÂQu® 1 : 3 
ö©õzu C»õ£® ¹.1,70,500 
{ºÁõP ö\»ÄPÒ ¹.69,600 
ÂØ£øÚ öuõhº¦øh¯ ö\»ÄPÒ ¹.18,600 
Bμ®£ ö\»ÂÚ[PÒ ¹.11,560 

12. (a) What are the various methods of redemption of 
debenture? 

  PhÜmk¨ £zvμzøu «mS® £À÷ÁÖ •øÓPÒ 
¯õøÁ? 

Or 
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 (b) From the following particulars, calculate the value 

of equity shares under yield method : 

 Rs. 

5,000 8% Pref. shares of Rs. 100 each 5,00,000 

75,000 equity shares of Rs. 10 each  

Rs. 8 per share paid up 6,00,000 

Expected profit for the year before tax 2,80,000 

Rate of tax 50% 

Transfer to general Reserve  20% of the profit 

Normal rate of earnings 10% 

  RÌUPsh ÂÁμ[PÎ¼¸¢x \õuõμn £[Qß 

©v¨ø£ »õ£ •øÓ°À (yield) PnUQkP. 

 ¹. 

¹.100 •P ©v¨¦ÒÍ 5000 8% •ßÝ›ø© £[SPÒ 5,00,000 

75,000, ¹.10 ©v¨¦ÒÍ \õuõ £[SPÒ   

£[S JßÖ ¹.8 ö\¾zu¨£mhx 6,00,000 

Á›US •¢øu¯ »õ£®  2,80,000 

Á› ÂQu® 50% 

ö£õxUPõ¨¤ØPõÚ JxURk 20% »õ£zvÀ 

ö£õxÁõÚ Dmk® ÂQu®  10% 

13. (a) From the following particulars, determine the 

maximum remuneration available to a full time 

director of a manufacturing company. The profit 

and loss a/c showed a net profit of Rs. 80,00,000 

after taking into account the following items. 
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 Rs. 

Depreciation (including special depreciation of 
Rs. 800) 

2,00,000 

Provision for income tax 4,00,000 

Donation to political parties 1,00,000 

Ex-gratia payment to a worker 2,00,000 

Capital profits on sale of assets 30,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ •Ê÷|μ 
C¯US|¸US QøhUS® AvP£m\ Fv¯zøu 
PnUQkP. RÌUPsh CÚ[PøÍ ÷\ºzx {ÖÁÚzvß 
{Pμ »õ£® ¹.80,00,000 GÚ Auß »õ£ |mhU 
PnUS Põs¤UQßÓx. 

 ¹. 

÷u´©õÚ® (]Ó¨¦ ÷u´©õÚ® ¹.8000 EÒ£h) 2,00,000 

Á¸©õÚ Á›UPõÚ JxURk 4,00,000 

Aμ]¯À Pm]PÐUS ÁÇ[Q¯ |ßöPõøh 1,00,000 

£o¯õÍ¸US ÁÇ[Q¯ P¸ønz öuõøP 2,00,000 

ö\õzxUPøÍ ÂØÓvÀ Qøhzu ‰»uÚ »õ£® 30,000 

Or 

 (b) The following particulars relate to Limited 
Company which went into voluntary liquidation. 

 Rs. 

Preferential Creditors  25,000 

Unsecured creditors 58,000 

6% Debenture 30,000 

  The assets realised Rs. 80,000 the expenses of 
liquidation amounted to Rs. 1,500 and liquidator 
remuneration at 2% on the amount paid to 
unsecured creditors including preferential creditors. 

  Show the liquidators final statements of accounts. 
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  ¤ßÁ¸® ÂÁμ[PøÍU öPõsk Áøμ¯ÖUP¨£mh 
{Ö©zvß CÖv{ø» {ø»USÔ¨¦, ußÚõºÁ 
Pø»¨¤ØPõÚøu u¯õ›UP. 

 Rs. 

•ßÝ›ø© PhÜ¢÷uõºPÒ  25,000 

¤øn¯ªÀ»õ PhÜ¢÷uõºPÒ 58,000 

6% PhÜmk¨ £zvμ® 30,000 

  ö\õzxUPÒ ©Ö ©v¨¥k 80,000. Pø»¨¤ØPõÚ 
ö\»Ä öuõøP ¹.1,500 ©ØÖ® Pø»¨£õÍ›ß 
Fv¯® 2% öuõøP ¤øn¯ªÀ»õ PhÜ¢÷uõ¸US 
ö\¾zu¨£mhx. CvÀ •ßÝ›ø© PhÜ¢÷uõºPÒ 
Ah[SÁº. Pø»¨£õÍ›ß CÖvU PnUøP 
Põs¤UPÄ®. 

14. (a) What is Insurance? Explain the various types of 
insurance. 

  Põ¨¥k GßÓõÀ GßÚ? Auß £À÷ÁÖ ÁøPPøÍ  
ÂÍUSP. 

Or 

 (b) The directors of Z Co. Ltd. forfeit 10 shares of Rs. 50 
each belonging to Karthick who had paid Rs. 5 per 
share on application; Rs. 10 allotment and Rs. 15 on 
first call but failed to pay the final call of Rs. 20. 
The same shares are then reissued to Raj as fully 
paid on receipt of Rs. 400. Pass journal entries. 

  Z P®ö£Û ¼ªöhiß ¹.50 Ãu® PõºzvU 
øÁzv¸¢u £[SPÎÀ 10 £[SPøÍ JÖ¨¤Ç¨¦ 
ö\´ux. AÁº Âsn¨£zvß ÷£õx ¹.5 ®, 
JxURmiß ÷£õx ¹.10 ©ØÖ® •uÀ AøÇ¨¤ß 
÷£õx ¹.15 ® PmiÚõº. BÚõÀ CÖv AøÇ¨¦ 
öuõøP¯õÚ ¹.20 I AÁμõÀ Pmh C¯»ÂÀø». 
A¨£[SPÒ μõä Gß£Á¸US ¹.400US •ÊÁx® 
ö\¾zv¯ £[SPÍõP ©ÖöÁÎ±k ö\´¯¨£mhx. 
SÔ¨÷£mk¨ £vÄPÒ u¸P. 
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15. (a) From the following information calculate the value 

of goodwill on the basis of 3 years purchase of super 

profit. 

(i) Average capital employed in the business is 

Rs. 20,00,000 

(ii) Normal rate of return in the business is 10% 

(iii) Net profit for the past 3 years were  

Rs. 3,50,400; Rs. 2,80,300 and Rs. 3,10,100. 

(iv) Salaries to partners Rs. 48,000. 

  RÌPsh ÂÁμ[PÎ¼¸¢x {ÖÁÚzvß |Øö£¯øμ 

ªøP »õ£® 3 Bsk öPõÒ•uÀ Ai¨£øh°À 

PnUQkP. 

  (i) Â¯õ£õμzvÀ Dk£kzv¯ \μõ\› ‰»uÚ® 

¹.20,00,000 

  (ii) Â¯õ£õμzvÀ QøhUS® ö£õxÁõÚ »õ£ 

ÂQu® 10% 

  (iii) Ph¢u ‰ßÖ BskPÎÀ Dmi¯ \μõ\› »õ£® 

¹.3,50,400; ¹.2,80,300; ¹.3,10,100 BS®. 

  (iv) TmhõÎPÎß Fv¯® ¹.48,000  

Or 

 (b) Explain the need for human resource accounting. 

  ©ÛuÁÍ PnUS¨ £vÂ¯¼ß ÷uøÁø¯ ÂÁ›. 
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PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

Each questions carries 10 marks. 

16. What is profit prior and after incorporation? Explain the 
method of its calculation and treatment in the books of 
account. 

 £vÂØS •ß ©ØÖ® ¤ß Dmh¨£mh C»õ£® GßÓõÀ 
GßÚ? AuøÚU PnUQk® •øÓø¯²® PnUQ¯À 
HkPÎÀ øP¯õÐ® •øÓø¯²® ÂÍUSP. 

17. Lingam Ltd. issued 10,000 shares of Rs. 100 each at 10% 
premium. The payments were to be made as follows : 

 Rs. 

On application 20 

On allotment 40 (including premium) 

On call 50 

 Application for 20,700 shares were received, one 
application for 700 shares was rejected. Rest were 
allotted on pro-rata basis. All money were received except 
the call money on 100 shares. These shares were forfeited 
and re-issued as fully paid at Rs.95 per share. Pass 
Journal entries. 

 ¼[P® {¸©® 10,000 £[SPøÍ £[öPõßÖUS ¹.100 
Ãu®, 10% •øÚ©zvÀ öÁÎ°mhx. ö\¾zu¨£mh 
÷Ási¯ •øÓ R÷Ç öPõkUP¨£mkÒÍx. 

 ¹. 

Âsn¨£zvß ö£õÊx 20 

JxURmiß ö£õÊx 40 (•øÚ©® Em£h) 

•uÀ ©ØÖ® CÖv AøÇ¨¦ 50 
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 20,700 Âsn¨£[PÒ ö£Ó¨£mhÚ. J¸ 
Âsn¨£zvØPõÚ 700 £[SPÒ {μõP›UP¨£mhÚ. 
«u•ÒÍ £[SPÒ ÂQu AÍÄ •øÓ°À JxURk 
ö\´¯¨£mhx. 100 £[SPÐUPõÚ Cμsk AøÇ¨¦ 
£nzøuz uÂμ ©ØÓ GÀ»õz öuõøP²® ö£Ó¨£mhx. 
C¢u £[SPÒ ©mk® JÖ¨¤Ç¨¦ ö\´x ¹.95 US 
©ÖöÁÎ±k ö\´¯¨£mhx. SÔ¨÷£mk £vÄPøÍ u¸P. 

18. On 31st March, 2002 the balance sheet of H Ltd. and S 
stood as follow 

Balance sheets as on 31st March 2002 
Liabilities H Ltd  S Ltd  Assets H Ltd S Ltd 

 Rs.  Rs.   Rs. Rs. 

Share capital     Sundry assets 5,17,600 3,04,000

Share of Rs. 10 each     Share in S Ltd. 1,62,400 ––

fully paid 5,00,000  2,00,000  Preliminary expenses –– 6,000

Reserves 1,00,000  50,000   

Creditors 80,000  60,000   

 6,80,000  3,10,000   6,80,000 3,10,000

 60% shares in S Ltd. acquired on 31st March, 2002 (Cost) 
prepare a consolidated balance sheet as at 31st March 
2002. 

 ©õºa 31,2002 AßÖ H {Ö©® ©ØÖ® S {Ö©zvß 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õ¸¨¦PÒ H 
{Ö©® 

S 
{Ö©® 

 ö\õzxUPÒ H 
{Ö©®

S 
{Ö©®

 ¹. ¹.   ¹. ¹. 

£[S •uÀ    £Ø£» ö\õzxPÒ 5,17,600 3,04,000
£[SPÒ ¹.10 Ãu®    S {Ö©zvß 

£[SPÒ 
1,62,400 –

(•ØÔ¾® 
ö\¾zu¨£mhx) 

5,00,000 2,00,000  öuõhUP 
ö\»ÄPÒ 

–– 6,000

Põ¨¦PÒ 1,00,000 50,000   
PhÜ¢÷uõºPÒ 80,000 60,000   

 6,80,000 3,10,000   6,80,000 3,10,000

 S {Ö©zvß 60% £[SPÒ AhUPzvÀ 31.3.2002 
øP¯P¨£kzv¯x. ©õºa 31,2002&UPõÚ öuõS¨¦ 
C¸¨¦{ø»U SÔ¨¦ u¯õ›UPÄ®. 
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19. Authorised Capital of Z Ltd. is 5,00,000 (50,000 shares of 

10 each) on 31.12.2006. 25,000 shares were fully called 

up. On 31.12.2006, the following balance taken from the 

ledger of the company. 

 Rs.  Rs. 

Opening stock 50,000 Bonus 10,500

Sales 4,25,000 Sundry debtors 38,700

Purchases 3,00,000 Sundry creditors 35,200

Wages 70,000 Plant and 

machinery 

80,500

Discount allowed 4,200 Furniture 17,100

Discount received 3,150 Cash and bank 1,34,700

Insurance paid (upto 

31.3.07 

6,720 Reserve 25,000

Salaries 18,500 Loan from M.D. 15,700

Rent 6,000 Bad debts 3,200

General expenses 8,950 Calls in arrears 5,000

Printing and stationery 2,400 P and L a/c (Cr) 6,220

Advertising 3,800   

 Additional information were furnished : 

 (a) Closing stock Rs. 91,500 

 (b) Depreciation on plant and machinery, furniture @ 

15% and 10% respectively. 
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 (c) Wages, salaries and Rent outstanding amounts  

Rs. 5,200, Rs. 1,200 and Rs. 600 respectively. 

 (d) Dividends @ 5% on paid up share capital is to be 

provided. 

Prepare final account of the company. 

Z ¼ªöhmiß A[RP›UP¨£mh •uÀ ¹.5,00,000 

(¹.10 Ãu® 50,000 £[SPÒ) 31.12.2006 AßÖ 

25,000 £[SÒ •ÊÁx® AøÇUP¨£mhx. 

31.12.2006 AßÖ ¤ßÁ¸® C¸¨¦PÒ {Ö©zvß 

÷£÷μkPÎ¼¸¢x GkUP¨£mhx. 

 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ 50,000 FUPz öuõøP 10,500

ÂØ£øÚ 4,25,000 £Ø£» PhÚõÎPÒ 38,700

öPõÒ•uÀ 3,00,000 £Ø£» PhÜ¢÷uõºPÒ 35,200

T¼ 70,000 ö£õÔ ÁøP ©ØÖ® 

C¯¢vμ® 

80,500

uÒÐ£i ÁÇ[Qx 4,200 AøÓP»ß 17,100

uÒÐ£i ö£ØÓx 3,150 öμõUP® ©ØÖ® Á[Q 

Põ¨¦ 

1,34,700

Põ¨¥k (31.3.07 Áøμ 

ö\¾zv¯x) 

6,720 Põ¨¦ 25,000

\®£Í® 18,500 ÷©»õÍ›h® ö£ØÓ 

Phß 

15,700
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 ¹.  ¹. 

ÁõhøP 6,000 ÁμõUPhß 3,200

ö£õx ö\»ÄPÒ 8,950 AøÇ¨¦ {¾øÁ 5,000

Aa_ ©ØÖ® 

GÊxö£õ¸Ò 

2,400 C»õ£ |mh P/S 

(ÁμÄ) 

6,220

ÂÍ®£μ® 3,800   

 Tku»õÚ Â£μ[PÒ \©º¤UP¨£mkÒÍx. 

 (A) CÖv \μUQ¸¨¦ ¹.91,500 

 (B) ö£õÔ ÁøP ©ØÖ® C¯¢vμ®, AøÓP»ß  «x 15% 
©ØÖ® 10% ÷u´©õÚ® }USP. 

 (C) öPõk£h ÷Ási¯ T¼, \®£Í® ©ØÖ® ÁõhøP 
•øÓ÷¯ ¹.5,200, ¹.1,200 ©ØÖ® ¹.600. 

 (D) ö\¾zu¨£mh £[S •u¼À 5% £[Põuõ¯® ÁÇ[SP. 
{Ö©zvß CÖv PnUSPøÍ u¯õº ö\´P. 

20. On 31.3.2008, the date of liquidation of a company, its 
balance sheet was as under  

Liabilities Rs. Assets Rs. 

Share capital:  Land and 
building 

4,00,000

7% preference shares 3,00,000 Plant and  

6,000 equity shares   Machinery 1,60,000

of Rs. 10 each Rs. 8   Stock 4,00,000

paid up 48,000 Debtors 6,40,000

3000 equity shares of Rs.10 
each Rs.7 paid up 

21,000  

6% Debentures of   Cash at bank 51,000

Rs. 100 each 12,00,000  
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Liabilities Rs. Assets Rs. 

Outstanding    

interest on    

debenture 72,000  

Creditors 8,000  

Bills payable 2,000  

 16,51,000  16,51,000

 The assets were realized as under: 

 Land and building Rs. 3,50,000; Plant and Machinery  
Rs. 2,00,000; Debtors Rs. 6,00,000; Stock Rs. 4,61,000; 
Liquidation expenses Rs. 2,000 Remuneration of 
liquidators : ½% on the assets realized including cash and 
1% on the amount paid to unsecured creditors. 

 Creditors shown in the balance sheet included Rs. 2,000 
preferential. 

 Interest on debenture is to be paid upto 31.5.2008, 
dividend on preference shares is in arrears for 1½ years. 
Legal charges Rs. 1,000. 

 Prepare liquidators final statement of accounts. 

 31.3.2008 AßÖ Pø»UP¨£mh J¸ {Ö©zvß CÖv{ø» 
SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 
£[S ‰»uÚ® {»® ©ØÖ® 

Pmih® 
4,00,000

7% •ßÝ›ø© £[SPÒ 3,00,000 ö£õÔ ©ØÖ®  

6,000 \õuõ £[SPÒ ¹.10 Ãu®;  C¯¢vμ® 1,60,000
¹. 8 ö\¾zu¨£mhx 48,000\μUS 4,00,000
3000 \õuõ £[SPÒ ¹.10 Ãu® ¹.7 
ö\¾zu¨£mhx 

21,000PhÚõÍºPÒ 6,40,000

6% Phß £zvμ® ¹.100 Ãu® 12,00,000Á[Q°À 
öμõUP® 

51,000

Phß£zvμ «uõÚ Ámi {¾øÁ 72,000 
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ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 
£»ÁøP PhÜ¢÷uõº 8,000 
ö\¾zu ÷Ási¯ ©õØÖa^mk 2,000 

 16,51,000 16,51,000

 RÌPshÁõÖ ö\õzxUPÒ ÂØP¨£mhx. {»® ©ØÖ® 
Pmih® ¹.3,50,000; ö£õÔ ©ØÖ® C¯¢vμ® ¹.2,00,000; 
PhÚõÎPÒ ¹.6,00,000; \μUS ¹.4,61,000; Pø»¨¦ ö\»Ä 
¹.2,000. 

 Pø»¨£õÍ›ß Fv¯®: öμõUP® Em£mh ö\õzxPÒ 
ÂØ£øÚ°À ½ % ©ØÖ® ¤øn°»õ PhÜ¢÷uõ¸US 
öuõøP ö\¾zv¯vÀ 1%. CÖv{ø» SÔ¨¤À 
Põs¤UP¨£mh PhÜ¢÷uõº ¹.2,000 •ßÝ›ø©. 

 31.5.2008 AßÖ Áøμ Phß£zvμ® «uõÚ Ámi 1 ½ 
Á¸hzvØPõÚ •ßÝ›ø© £[SPÒ «uõÚ £[Põuõ¯® 
£õUQ, \mha ö\»ÄPÒ ¹.1000. Pø»¨£õÍ›ß CÖvU 
PnUøP u¯õ›UPÄ®. 

  
———————— 
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DISTANCE EDUCATION 

Common For. B.Com. B.Com.(LE)/B.Com.(CA)/B.Com(CA)(LE) 
DEGREE EXAMINATION, DECEMBER 2022. 

Sixth Semester 

ENTREPRENEURSHIP DEVELOPMENT 

 (CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define the term entrepreneur. 

 öuõÈÀ •øÚ÷Áõº GßÓ £uzøu Áøμ¯Ö. 

2. What do you mean by entrepreneurship? 

 öuõÈÀ •øÚÄ £ØÔ }Âº AÔÁx ¯õx? 

3. What is the main objective of the DIC? 

 DIC •UQ¯ ÷|õUP® GßÚ? 

4. Define financial feasibility. 

 {v \õzv¯U TÖ Áøμ¯ÖUPÄ®. 

5. State any two types of marketing strategies. 

 \¢øu¨£kzxuÀ Ezv°ß H÷uÝ® CμsiøÚU TÖP. 

6. Mention the sources of finance.  

 {v Buõμ[PøÍU SÔ¨¤kP. 

Sub. Code 
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7. Define project completion report. 

 vmh {øÓÄ AÔUøP Áøμ¯ÖUPÄ®. 

8. Define Innovation. 

 ¦zuõUP® Áøμ¯ÖUPÄ®. 

9. State the external cause of industrial sickness. 

 öuõÈÀ |¼Âß öÁÎ¨¦Ó Põμn[PøÍ TÖP. 

10. Define franchising. 

 E›ø©°¯À Áøμ¯ÖUPÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions, choosing either (a) or (b). 

11.  (a) Define entrepreneurship. 

  öuõÈÀ •øÚÄ Áøμ¯Ö. 

Or 

 (b) State the characteristics of entrepreneurship. 

  öuõÈÀ •øÚÂß £s¦PøÍU TÖP. 

12.  (a) What are the factors affecting the growth of 
entrepreneurship? 

  öuõÈÀ •øÚÄ ÁÍºa]ø¯¨ £õvUS® PõμoPÒ 

¯õøÁ? 

Or 

 (b) Define layout planning. 

  uÍÁø©¨¦z vmhªhÀ Áøμ¯Ö. 

13.  (a) What is Technical Analysis? 

  öuõÈÀ ~m£¨ £S¨£õ´Ä GßÓõÀ GßÚ? 

Or 
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 (b) What is product layout? 

  u¯õ›¨¦z uÍÁø©¨¦ GßÓõÀ GßÚ? 

14.  (a) List out the components of a business plan. 

  ÁoPz vmhzvß TÖPøÍ £mi¯¼kP. 

Or 

 (b) Mention the methods of production process. 

  EØ£zv ö\¯À•øÓ°ß •øÓPøÍ SÔ¨¤kP. 

15.  (a) What is the major drawback of franchising? 

  E›ø©°¯¼ß •UQ¯U SøÓ£õk ¯õx? 

Or 

 (b) State the features of Self-Help Groups. 

  _¯ EuÂU SÊÂß C¯À¦PøÍU TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. “Entrepreneurs are made, not born” Explain. 

 öuõÈÀ•øÚ÷Áõº E¸ÁõUP¨£k£Á÷μ AßÔ 

¤Ó¨£ÁμÀ»º – ÂÍUSP. 

17. Discuss in detail the three phases of a marketing 
strategy. 

 \¢øu¨£kzuÀ Ezv°ß ‰ßÖ Pmh[PøÍ Â›ÁõP 

ÂÁõvUPÄ®. 

18. Explain the types of Companies. 

 {ÖÁÚ[PÎß ÁøPPøÍ ÂÍUSP. 
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19. What is project report? Explain a model report with an 
example. 

 vmh AÔUøP GßÓõÀ GßÚ? J¸ ©õv› AÔUøPø¯ 

Euõμnzxhß ÂÍUSP. 

20. What are the causes of sickness Small Scale Industries. 

 ]ÖöuõÈÀPÒ |¼ÁøhÁuØPõÚ Põμn[PÒ ¯õøÁ? 

———————— 
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DECEMBER 2022. 
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MANAGEMENT INFORMATION SYSTEM 

(CBCS – 2018-19 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is Management Information System? 

 ÷©»õsø© uPÁÀ Aø©¨¦ GßÓõÀ GßÚ? 

2. What is Network Economics? 

 Áø»¯ø©¨¦ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

3. What do you understand by the systems approach? 

 •øÓø© AÝS•øÓ £ØÔ }Âº AÔÁx ¯õx? 

4. What is business strategy? 

 ÁoP Ezv GßÓõÀ GßÚ? 

5. State about operational level planning. 

 ö\¯À£õmk {ø» vmhªkuø»¨ £ØÔ TÖP. 

6. What is software reliability? 

 ö©ßö£õ¸Ò |®£Pzußø© GßÓõÀ GßÚ? 

Sub. Code 
10264/12564
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7. What is a digital firm? 

 P»US•øÓ {Ö©® GßÓõÀ GßÚ? 

8. Define internet security. 

Cøn¯ £õxPõ¨¦ Áøμ¯ÖUPÄ®. 

9. Define registers. 

£vÄPÒ Áøμ¯ÖUPÄ®. 

10. Define network topology. 

 Áø»¯ø©¨¦ ChÂ¯À Áøμ¯ÖUPÄ®. 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

11. (a) Write the major challenges of information system.  

  uPÁÀ Aø©¨¤ß •UQ¯ \ÁõÀPøÍ GÊxP. 

Or 

 (b) State the characteristics of Management 
Information System. 

  ÷©»õsø© uPÁÀ Aø©¨¤ß £s¦PøÍ TÖP. 

12. (a) What is business information system? 

  ÁoP uPÁÀ Aø©¨¦ GßÓõÀ GßÚ? 

Or 

 (b) What do you mean by process improvement? 

  ö\¯À•øÓ ÷©®£õk £ØÔ }Âº AÔÁx ¯õx? 

13. (a) What are the benefits of enterprise systems? 

  {ÖÁÚ Aø©¨¤ß |ßø©PÒ ¯õøÁ? 

Or 
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 (b) State about strategic level planning. 

  {ø» vmhªkuÀ EzvPøÍ¨ £ØÔ GÊxP. 

14. (a) What are the benefits of E – Commerce? 

  ªß ÁoPzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What is E – Communication? 

  ªß&uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

15. (a) What is meant by bus topology? 

  ÷£¸¢x ChÂ¯¼ß ö£õ¸Ò ¯õx? 

Or 

 (b) What are the tools used in systems development? 

  •øÓø© ÁÍºa]°À £¯ß£kzu¨£k® P¸ÂPÒ 

¯õøÁ? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elucidate the role of management information system in 
the organisation structure. 

 {ÖÁÚ Pmhø©¨¤À ÷©»õsø© uPÁÀ Aø©¨¤ß 

£[RmiøÚ GkzxøμUP. 

17. Explain the advantages of object oriented design. 

 ö£õ¸Ò \õº¢u ÁiÁø©¨¤ß |ßø©PøÍ ÂÍUSP. 
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18. Enumerate the three levels of Management Information 
System. 

 ÷©»õsø© uPÁÀ Aø©¨¤ß ‰ßÖ {ø»PøÍ 

Gkzv¯®¦P. 

19. Elucidate the applications of E – Commerce. 

ªß&ÁoPzvß £¯ß£õkPøÍ GkzxøμUP. 

20. Describe the various types of network topologies. 

 Áø»¯ø©¨¦ ChÂ¯ÀPÎß £À÷ÁÖ ÁøPPøÍ 

ÂÁ›UPÄ®. 

———————— 

  


